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‘ PART I / 9T I
CHILD DEVELOPMENT AND PEDAGOGY / &ttt fawma ﬁT&ITW
RS : ke o & 3w 83 % forg aed afa
fa®eq giag |
g -geeft famaand amm=ma:
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Directions : Answer the following ‘questions by

selecting the most appropriate option. '

1. Learning disabilities are generally found 1.

(1) in special]& those children whose
paternal relatives have such problems

(2) in children with average to superior IQ
(3) more often in boys as compared to girls

(4) more often in children belonging to rural
areas as compared to urban areas

A child cannot distinguish between ‘saw’ and

‘was’, ‘nuclear’ and ‘unclear’. He/She is

suffering from

(1) dysmorphemia

(2) dyslexia

(3) word jumbling disorder
(4) dyslexemia

In the Information Processing Model of
thinking, the following steps are said to take
place :

A. Response execution

B. Response selection

C. Pre-Processing

D. Categorisation

The correct sequence of these steps is
(1) D,CB,A

2) C,D,BA

3) B,D,CA

4) CAD,B

Gifted students are _
(1) independent in their judgements
(2) independent of teachers

"(3) introvert in nature

(4) non-assertive of their needs

(1) 3 = A 9 A fodiva: s i
-aﬁwwmﬁm&ﬁﬁuﬁa
B 3

2) g @ I8 glgafy I o= § IR

(3) agﬁnaﬁﬁgamﬁaﬁ:ma@aﬁﬁqﬁ
Tt &

(@) @ 3 w= § U wd § S wwd
g3t hY e arfior &5 | gy W@ 3

Wwﬁﬁ @m%,a'&"saw’e'ﬁ(
‘nuclear’ 3R ‘unclear’ H W T&

‘was’,

gohal |

(1) femrdiftrn

@) fe=ifegn

(3) Wieg Safenr far

(4 T=fFafian

o % gam weeww faga @ frafafaa =
I 2§

&. Yiafsan fharaaw

@ gfdfsea w=q

7. qd-TERA

H, SufiE

T SO T T A B

1 9,7m,49,%

@ T,9,9@, %

(3 @, 9,7,%

4 T,%,49,@

gfaumemeft foemeff

1) o o & el B @

(2) foael @ woa g4 8

3 w@wE § sfadet g § |
(4) magﬁmmaﬁﬁqamﬁﬂ
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Partial reinforcement

(1) is more effective than continuous
reinforcement

(2) is less effective than continuous
reinforcement

(3) cannot be applied in actual classrooms

(4) works best in training animals

Orthopedically impaired children are likely to
have

(1) dysgraphia
(2) dysthymia
(3) dyscalculia

“(4) dyslexia

Adolescents may experience
(1) feeling of satiation about life
(2) anxiety and concern about themselves

(8) feeling of fear about sins committed in
childhood

(4) feeling of self-actualization

Which one of the following is an example of a
fine motor skill ?

(1) Hopping

(2) Running

(3) Writing

(4) Climbing

Vygotsky theory implies
(1) collaborative problem solving
(2) individual assignments to each student

(3) after initial explanation, do not support a
child in solving difficult questions

(4) child will learn best in the company of
children having 1Q lesser than his/her
own

E
nif¥rs s
(1) &ad YAser < sren i gt g 8
(2) Tdd GAE hl AT HH YT Bl B
(3) arafas wahd T INgE T8l R s
el .

(@) Wyl w yfifda wE 4 daifte wd
FT B '
Tifr T U B sem A w AW

AR

(1) feanfen

(2) Tewfifipn

(3) fechesforn
4) fewifean

fRit ___ # v R gHd 8 |
@) ST % 9 A uighy % e

(2) gfewar ot &2 | §UHR

(3) =9 A foru T STyt & ufd e % wE
(4) Tenfafy & wa
frefafaa & & SR ggu wfae HNE &
SR B ?

(1) PGHA

2) e

3) fomm

(4) e

argieesh! < fagra = ffgand 3

(1) EITICHS UL G

2 vIF foeneffl = safeg w9 @ <@ w
Gl

(3) YRIYF ST &% 91¢ HigT Tl ol g
Wﬁﬁﬁmqm

(4) o= F 9= F gufd § Iway w9 @ di@
- gfg-steuih ¥ w0 BT B
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11.

12,

13.

14.
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Smallest unit of meaning in a language is 10.
(1) syntax
(2) morpheme
(3) phoneme
(4) pragmatics

11.

A child of 16 years scores 75 in an IQ test; his
mental age will be

(1) 8

(2) 14
3 15
(4) 12

years.

1Q scores are generally correlated

with academic performance.
(1)
(2)
(3)
4)

perfectly
highly
moderately

least

Which one of the following optimizes
motivation to learn ? ‘

(D
(2)
(3

Extrinsic factor
Motivation to avoid failure

Tendency to choose very easy or difficult
goals

4)

Personal satisfaction in meeting targets

Theory of multiple intelligences implies the
following except

(D

disciplines should be presented in a
. numbers of ways

2) learning could be assessed through a
variety of means '

(3) emotional intelligence is not related t
1Q :
intelligence is a distinct set of processing
operations used by an individual to solve

problems

4

t

12.

13.

14,

e # el < gad oI I '
(1) dae

2 ¥fm

(3) @i

(4) Ghawmiaye (i)

16t s qfg-oifen wham § 75 ik Ww
w R, IR AAR e
Bt |

1 8

@ 14

3) 15

@ 12

71

i g-Tsuies Im=IE: &9 @ Rgivrs

fsare @ gafq 219 €

1 ol

(2) 3I=H

(3) H=m . ' .

(4) HH-AFH

frefifiad § ¥ B dwd ¥ R sl

w7 § ffE w@r g 2 '

(1) <& s

(2) IEEH ¥ F= % fog rfmon

(3) - 9gd WA AT HISA AL B T HA Hl
o ‘

(4) @& H I F A e 9g

wgafs g frafafea ffead 2o @ e

@ fwl @ e w0 @ e R

Hehdl B

2 fafea afenl @ draga 1 AeReq forar s
Hehdl B

- (3) g gfg, gfg-afsd & gt a8 @

@ dfg vFau Gikanet #1 s Tl agey
3 fawm swEm ww safs g wwen
g+ e foen s 2
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18.

NG

R

/Er-

(5)

One of the identical twin brothers is adopted

" by a socio-economically rich family and the

other by a poor family. After one year, which
one of the following may be most likely
obscrved about their 1Q scores ?

(1) The boy with rich socio-economic family
will score greater than the boy with poor
family

(2) Both of them will score eciually

(3) The boy with poor family will score
greater than the boy with rich

socio-economic family

Socio-economic level does not affect the
1Q score

4

Assessment for learning takes into account the
following except

(D
(2)

learning styles of students
strengths of students
necds of students

mistakes of students

4)

An empowering school will promote which of
the following qualities the most in its
teachers ?

(1
)
(3
(4)

Memory

Disciplined nature

Competitive aptitude

Tendency to experiment

Monika, a Maths teacher, asks Radhika a

question. On not getting any answer from
Radhika, she quickly moves on and asks

Mohan another question. She rewords her|’

question after realizing that Mohan is
struggling to find the answer. This tendency of
Monika reflects that she is

(1) trying not to put Radhika in an

embarrassing situation

well aware of the fact that Radhika is
not capable of answering questions

(2)

3
4)

slightly nervous about her question

supporting gender stereotypiﬁg of roles
by favouring Mohan -

15.

16.

17..

18.

E
THETH  Sgal Wil H " T
gmies-onfies 9 ¥ gded 9iER g Mg
o mar ® ot g F T A wfEm g
w ad F g FH glg-dedis b SR A
ffafiga § @ s sacifera 89 6 Talfas
T B 7
1) fdy gfem 9@ dgF  hi smam ot
wﬁ%aﬁ%vﬂwmmﬁ%
3 qTH HUT
A4 g9 ®Y @ 3 ITH HA
gfi gfse-anfde ufem I @ss 6
srien e ufEr aren wegw Il 3
ITH AT
mfser-afies w gfgasys Hb
e Tt s
m@ﬁ%mmﬁmﬁmmmm
B faar
) ferenfdat i srferm-siferat
@) Frenfidt st
3) ferenf¥ai & smevEsma
) Trnft & gfat
w uwe fouem o fieet d fefafea
Jrgarelt # @ ford waifere stgran am 2
1 Hfa

(2) R @
@ Seadiors e

(2)
(3)

(4)

(@) Thge wE H g

o, St it f ke 3, T @ @
Y ISt 2 | Ul @ H18 IW A fied W ag
Ta g ¥ @0 T qodl @ | 9 I WeqH
Brar 8 55 Arg I wam § gud o @ R @ 98
I T % G B AGedt 8 | Wi B A
vafy g weftfa el 2 o6 97

(1) ufmﬁﬁsﬂeﬁmqyff&\uﬁﬁqﬁ
ST =g Tl

39 9ou ¥ quia: aitfed B fo ot sl
% e 3 o A TE B

397 g % Wi gl gEU T B

o w1 g o fom yfteeedl d
wfeagm # TG ¢ W R

)

(3
4)
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20.

- 21,

22,
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The best way to avoid gender discrimination
in a school may be

@)

=
=

selection of more boys than girls for a
music competition

(2

metacognition of their gender-biased
behaviours by teachers

3

recruitment of equal number of male
and female teachers

4)

formation of a rule to shun gender
discrimination in the school and enforce
it strictly

Which of the following would be the most
appropriate way to encourage disadvantaged
children to attend school regularly ?

@)
(2
3

Paying & 5 per day to attract children

Opening residential schools

Not allowing children to attend school
may be made a legally punishable
offence

(4) A child collector employed by the school,

scholastic areas on the basis of performance in
co-scholastic areas can be justified as

6))
(2
3
(4)

it ensures universal retention
it develops respect for manual labour
it caters to individual differences

it follows the policy of compensatory
discrimination for the marginalized
students

(6)
19.

20.

must bring - children from homes
everyday '
: ' 21.

Successful inclusion requires the following
except
(1) Capacity building
- (2) Sensitization
(3) Segregation
(4) Involvement of parents

' ‘ .22,
The 'up-scaling of performance in the

(@

e # Rm Yowe ¥ w91 % gaty ahw
B Hehd @

(1) wha sfeEifa & o aefral 1 aan
ATy TSHI HI FIH HEAT

(2) Trarei gro Ik forT-uegarayyl saasri 1
SIBCEIC]

3) ¥ W wigen femsl | gom wew #
el T

4) foemem #§ fomagma = @ 0 & g

fom S 3R wes 4 I UeH
HEE]

e § ffie Sufeafa & fog dfa s=t =t

Yicaifed wA w1 fafafea § @ $Far ale

Geifereh 39gHh € 2

(1 aahaﬁanwﬁawﬁéafmuﬁﬁq?s)

Gl

AarEE faemem g@am

T H foaem o I oEfa 7 2 W
FHITH TS YUY FTR—T 1Y

ﬁmmmaaﬁaﬁwﬁamaﬁ@

=t @ figw fohar s St wfafer =1 &

=] ! AR Y

maﬁmaﬁﬁmﬁr@aﬁm@méﬁ

R Rarr

(1) SHA-FIGA

) TG S

(3) YUFHW

(4) Afrareen 6 vrfierd

wg-Refe & & fsagr & nEn | REs
&l o oaIeT % W H gn i A T
forg SuR W v ST Tt B 2

1 q'&'?ﬂé‘iﬂﬁﬁ? Yot (retention)a'ﬁ'ﬂﬁfﬁﬁ’.
ERGIR

Tz gy ¥ fFu IR 9 3w % gfa Te
forenfira =tar @

T Jaferen frarelt ) wge i 2

Iz fiErpa el & fom sfaqs
gTa Y Aify 1 T wa B

(2)
3

(4)

(2)

3)
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24.

25.

26.
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R
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While selecting material for the portfolio of
students : of should be
there.
(1) exclusion; students
(2) inclusion; other teachers
(3) inclusion; students
(4) inclusion; parents

Of the following, the greatest advantage of
interdisciplinary instruction is that

(1) students are less likely to develop a
dislike for particular topics of different

subject areas

(2)

teachers are permitted greater flexibility
in planning lessons and activities

(3) students are given opportunities to
generalize - and apply newly learned

knowledge in multiple contexts

teachers are less likely to feel
overwhelmed by the multiplicity of topics
needed to be addressed in a traditional
curriculum

(4)

A teacher can make problem-solving fun for
students by doing all the following except

ey
(2)

giving time for free play

providing endless opportunities for
creative thinking )

6))

expecting perfection from the students
while they are trying to do things by
themselves ‘

providing open ended material

4)

Learners who demonstrate an earnest desire
for increased knowledge and academic
competence are said to have a

Mastery orientation
(2)
(3)
4)

Performance-approach orientation
Performance-avoidance orientation

Work-avoidance orientation

(7)
23.

24.

25.

26.

i E
forenf¥Rt & dewIfeR % T wEEll =

FQ qHg Eal S F =R |
(1) Terenfef; afgsr

@) 3 foererl; Tomasm

(3) forenfstat; garasA

(4) e, TEETA

fafafga & @ sfafawht sy 1 waies
a9 8 e '

foenffl § foftm fowmdst & faow
-y & gfd et fowlia @ e
- EWTEAT B B

qra-erT s ai it § frert
Aftre w=fiem i argafa did R
foenfifal = i@ MU AT I w1 SR
7 IR #H R gERiFd FH F
a7 feu Sird & |

TR ) fafauar, R Wawa aea=at
# gaifta g ST TawEwar ], 4
fierert % i 9 A FH GE B
.

et % o Fefafaa ash
R HW gu gnEEyE w1 el % i
TR &1 Fehdl 8 |

(1)

(2)

(3)

4)

(1) T Qd & fagama &3

@) gaaers foaa & fau onfifm st

- 3udsd R

3 v foranefl wd @ w1 e w0 H FRw
R E @ I whegstar h e wE

(4) TR 37d el gl Sued A

3 Rl & gag T ot dule cwa B
gfde go=1 yefifa wta €, 37 u g1 2

(1) “guIar ffa=ma

) frsareasarm st
3) TrsarerafEr sfifmm
4
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In order to instil a positive environment in a
primary class, a teacher should

(1) wish each child in the morning

(2) not discriminate and set the same goal
for every child

(3) allow them to make groups on their own
on the basis of sociometry during group
activities

(4) narrate stories with positive endings

Which would be the best first theme to start

with in a nursery class ?
(1) My ncighbourhood
(2) My school

"~ (3) My family

29.

30.

(4) My best friend

Which of the following is true in relation to
errors made by children ?

(1) Errors can be corrected by children
themselves, therefore a teacher should
not immediately correct them

(2) If a teacher is not able to correct all
errors in the classroom it indicates that
the system of teacher education has
failed

(3) A teacher éhould not notice every error
otherwise syllabus will not be covered

(4) Correcting every error would take too
much time and be tiresome for a teacher

Which of the following characteristics is the
hallmark of the problem-solving approach ?

(1) There is an irﬁplicit hint given in the
problem statement

(2) The problem is original

(3) There is usually one approach for getting
the right answer

(4) The problem is based on only one
principle/topic

(8)
27.

28.

29,

30.

grafie a1 § RIS ararerel g $0 *

foTe wsh fiages ot

(1) gagmaéwa&ammmﬁq

2) fadg 98 =t =ifgr o y@% = &
fou wam @ ghfvaa = =ifge

(3) wgfafafe & e woefafy & smar
W IR A FEE s o gEla o
ELEY

(4) GHRHS 3a aTell Fgiar Il a1y

TG owEn Hd ygeId wH % fau A

ﬁrwaa (theme)mW%?

1 " IS

@ wu fome=

(3) WU gRER

4 @ fEfE

FE g IH T R % Ty #

feffga d a FRT s a8 2

(1) W = grr AT H U A THT 8
safee fige # 3% T@ & @ gawn
ELEY

@ IR = s sy § oft = R
Ffed = gura A T ] d@ Ag T
Al & for fregen-fren 1 sraen srawe
2

3) T REs BN 59 IR W @m T
fET AAYT IISTHA qU T

@ Y% IR AN guA # Sga Avw @
T qAT Uk g & forw wsmH-aen
i

frafafga @ @ -t faovar anenagyE

IqH 1 faes fog R 2

(1) TIEN H9H § Hha Iaffed &9 4 fom
BT @

2 uuen Afas ad R

(3) UE W YW FA H GHEFNE: Th IITH
g 8 _

(4) THEN had Tk fagia/ssr woanaiE

R
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PARTII/‘#TFTIi
MATHEMATICS /vfora
e : Aefifaa yo & gt 27 & o aad I

Answer the following questions by

selecting the most appropriate option.

31.

32.

33.

34.

The sum of place values of 2 in 2424 is
1) 4

(2) 220

(3) 2002

(4) 2020

(Smallest common multiple of 12 and 16) X
(Smallest common multiple of 10 and 15) is
equal to

(1) 960
(2) 1720
(3) 1440
(4> 480

What should be added to the product
140 x 101 to get 14414 ?

(1) 264
@ 274
(3) 278
4) 364

The sum of all the factors of 100 is
(1) - 115 '
(2) 216
3) 217
(4) 223

faeq 31T |

31.

32.

33,

34.

2424 T 2 &% TIT A H TTHA B
1 4

2 220

(3) 2002

(4) 2020

(12 3 16$r=q3?mmégvm) x (103?!1 15
1 JAAH WTE OIS S R

1) 960

2 720

(3) 1440

(4) 480

TUAGA 140 x 101 ® w1 e W fed e

14414 TTH B ?

264 .
274
278
364

oY)
(2)
(3)
4)

TEAT 100 % Tt TUFGE! HT AR 3
1) 115
@) 216
@) 217
4) 223

SPACE FOR ROUGH WORK / T &1 & foru wirg
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35.

36.

317.

38.

f
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(10)

Number of hours and minutes from 6 : 14 a.m.
to 8 : 02 p.m. on the same day is

(1) 2 hours and 12 minutes
(2) 12 hours and 16 minutes
(3) 13 hours and 48 minutes

(4) 14 hours and 16 minutes

How many % are there in % ?

(1
(2)
3)
4

Sy b W

When 121012 is divided by 12, the remainder
is

(1)
(2)
3
4)

oW O

Which one of the fellowing is not correct ?
(1) 1 paisa=¥ 001
(2) one and a half dozen = 18

(3) 1 millimetre = 0-1 centimetre

(4) 3 litres 30 millilitres = 330 millilitres

35.

36.

37.

38.

forelt &9 6 : 14 am. ¥ 8: 02 p.m. TH T e
firel ) gew B

(1) 249 3 12 fiFe ’
@) 122 3R 16 fie

(3) 13 HR 3N 48 firFe

(4) 14 92 3R 16 fiFe

23 Lo
3 6

1)
2)

3)
4)

Sy A W N

121012 W 12 § NI %A T 96 8

1 o
(2)
(3)
4)

W N

e 3 & SR vl 777 R 2
(1) 1% = T 001

(2) TH MW 791 G5 = 18
3) 1 faeffier = 0.1 T

(4) 3T 30 fieiefiet = 330 fiefiefier

SPACE FOR ROUGH WORK / T& @14 & fetu st
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39.

40.

41.

42.

R

/el

A chocolate has 12 equal pieces. Manju gave
one-fourth of it to Anju, one-third of it to
Sujatha and one-sixth of it to Fiza. The
number of pieces of chocolate left with Manju

f
f

is
(1)
@
(3)
4
One orange costs two and a half rupees. How

much will three and a half dozen oranges
cost ?

(1
(2)
(3)
(4)

=W N =

90

¥ 105
¥ 112
T 120

Floor of a square room of side 10 metres is to
be completely covered with square tiles, each
having length 50 centimetres. The smallest
number of tiles needed is

(1) 200
(2) 300
(3) 400
(4) 500

The
24 cm. The area of the bigger square is how

perimeter of twg squares is 12 cm and

- many times that of the smaller ?

(1) 2 times
(2)
(3)

4)

3 times
4 times

5 times

(11)
39.

40.

41.

42,

@

E

U Il h 12 SUSK W B | A9 A gHe

THAAE W T R, FEH Ch-fogE wm
AT H IR TEH THBS] WA TS W Q
feam | o9 % T M9 ARSI F 9 W 7

1 1
2 2
3) 3
4 4

T Gl 1 Yoo 318 F91 § | TQ o g |eri
1 o T AT ?

1) 90

2 T105

(3) T 112

4) T120

10 HiX o 9t TF AR HR 6 B
TR @t & qUiqen g1 § | 3R e s
1 A 50 FEHIR B, A AR 3l hl
AT &I B

200

300

(3) 400

(4) 500

@ i % qiA 12 O qen 24 A & | W
F ATH Bl T F G HT fohad T 2 2
(1 2T

(2) 3T

(3) 47T

@ 5T

(2)
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43.

44.

45.

R

/el

Internal length, breadth and height of a
rectangular box are 10 c¢cm, 8 ¢cm and 6 cm

f
f

respectively. How many boxes are needed to|

pack 6240 centimetre cubes ?
(D
(2)
(3)
(4)

The number of degrees in four and onc-third
right angles is

(1) 390
(2) 395
(3) 400
(4) 405

In the figure, side of each sguare is 1 cm. The
area, in square cm, of the shaded part is

/1
A
N

(1 8
(2)
3)
(4) .

10
11

(12)
43.

44.

45.

frfl AR wH h raE EE, e
o s AN 10 Y, 8 At St 6 AT R
6240 FAN Tl @1 ¥ H@ # fopaq sl
JTEYTHAT B ? '

1 12

@)
(3)
4

R 3 wh-fagrs awenin # ffii i v g
)
)
(3)
4)

390
395
400 °
405

S 3, o o B g 1 @0 | IR
s 1 o, a2, &

A
\\k

(1)
(2)
(3)
4)

10
11
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46.

47.

R

/el

Shailja can express a number in different

ways. For example 4 =2 + 20r 4 =1 + 3 etec.
In which developmental phase of numbers is

she ?

(1) Quantifying phase

(2) Partitioning phase

(3) Factoring phase

* (4) Operating phase

A child of Class III reads 482 as four hundred
eighty two but writes it as 40082. What does
this indicate for a teacher ?

(1) Child is not attentive in the class and is
a careless listener

(2) Child is a careful listener but has not
established sense of place value

(3) Child is confusing the expression of
number in expanded form and in short
form

(4) Teacher should teach the concept of place
value when the children are able to write
numbers correctly '

(13)

46.

47,

Yot fafm qhwl & G Ht FF B gHd!
IR F I a4=2+2 9T 4=1+3
snfe | a8 G & feu fammcas sfeaen w

27
(1) gfmmeds T

©2) fawsArcas Tawen

(3 TUEER JFEE

(4) Gisran-aAaEen

a1 111 1 9= 482 Hl IR € waref) vgan

AferT 40082 forgar @ | 78 fee & foau fea

AN Gohg HLAT B 7

(1) = % § THy ad R I em @ 9l
Al

(2) =T ©IF ¥ gl g ik ™ TH H
gz TAfya & 9 R

(3) &= v H afefe & o wa
i og w9 3§ wfta R

4) s = e 9m v 99 @ e
it 99 s= GdEme ® Wl YER
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48.

49.

Frever,”

(2)-

R

To introduée subtraction of two-digit numbers
in Class III, a teacher proceeded in the
following steps :

StepI: Revision of two-digit numbers with
understanding of place value system..
Step IT : Use of tally marks to show that

smaller number can be subtracted
from larger number.

Step IIl - Application of subtraction on
numbers under each column of place
value.

In this case teacher is developing the lesson

(1) from system concept — operation —

~ algorithm

(2) from operation — system. concept —
algorithm

(3) from algorithm — system concept —
operation

(4)

from system concept — algorithm —
operation

“Which two numbers when multiplied give the

- product 24 7" -

This question

(D

is an open ended question as it has more
than one answer

is a closed-ended question as it has
definite number of answers

(3) suggests general problem-solving
strategy to the child so that he/she can

answer correctly

(4) helps the child to think metacognitively

(14)
48.

49.

He 11 § Q-3hg TEmedl & ahed @

T W 6 fo e fefafga s @

ST BT 8 -

W] : TAFN OF LAl hl 99F * A@IY
BQ-Fh FEASAT 1 GG HAT |

w1 8 Yefila w3 & fou & s s=n
H) 9 G q YT S Gehal & -
oh fagt &1 g %

7 [ : T WA % Y&AF il & Fad

TEgelt % ko T IEE

Excill ,
3g frafq o e 3 918 H faw™
@R

(1) HIEAGHT — alhaT — GReheH-

yfsman

-

2 TR - TEEAEETIT - Gieed-
gfskan _

(3) UpeH-IfEN - SHETALERST -
Gfspm \

(4) TILHHA - URHOHENERN

Gfsem
“fop7 Q) TETIT I N FH W 24 TPHEA TH
ghm 27
RERE
(1) TH-3@ a1 T § HiE 5Eh Th d
31fireR 3T 8
HEm 4 I 8
T F YH RIS
AT R ATleh 98 HEl W ¢ Th
AftEgHerS €9 @ a3 3 =2 fit
BRI LT 2

(2

3)

4
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50.

51.

R

/el

The students of Class V were able to attempt

the problem %—% correctly, but not able to

solve the problem “How many él— cake pieces

are there in half a cake ?”. The reason is

(1) students’ language development is poor
(2) problem is of higher difficulty level for
Class V

operations on fractions are taught
without contextualisation and language
support

students are not able to understand the
mathematical equivalence of the two
problems

3)

(4)

Hamida always allow her students to observe
the number pattern and to form conjectures on
their own in order to enhance their
mathematical abilities. She wrote the
followin; problems on board and asked the
students to write the answers :

21+17=

21+ 07=

021 + 0-07 =

0-021 =+ 0-007 =
Through the set of questions she wants the
students to observe that
(1) as one factor is divided by 10 and the
other is multiplied by 10, the product
remains same
as one divisor is decreased by 10 and the
other is increased by power of 10, the
product remains same
if both the divisor and the dividend are
increased or decreased by power of 10,
the quotient remains the same
if both the divisor and the dividend are
decreased by power of 10, the quotient is
also decreased by the power of 10

(2)
(3

(4)

(15)

E

mr$mv%%MRmm%+%ﬁvﬁw%@

51.

T HGH A, AT I 39 gEE H v T8
mmaﬁ«ma@ﬁmﬁ%m&

IHS B 77 IR BT B

1 foenfi s wwi-foem aga wwE R

(2) T SV & ol 3= Hi3TE T H
3) il w afsramd fom gesflermor et s
ferneff 37 @ Twenen i nfiefim geran
+ g g A 8

e oma faanfdat & nforfle et
Hgg w0 & fou 3R @y dwwyfewd
(patterns) <hl HIAIH HiA 3R FHedTT 91
T 2 | 98 9 W Fefafed ared fored) R
3R ferenfefai @ et B f6 9 soe S ford
21+7= ‘
21+ 07 =
0-21 + 0-07 =
0-021 + 0-007 = -
g8 Y % U¢ % WiegH § qg wEd g 6
forenefi wg sttt W T 6 :
(1) 99 U TorE 1 10 & fowfsa Tk S
8 3 @t 1 10 § o0 fokar Srar 2
TG g9H Tl 8
I U W hl 10 ¥ Hed Bl B R
@ 1 10 H 9@ | ged gl @,
AR M &l 8
Ife worer 3T wsg g4 10 Y U@ |
gaqm@aqaﬁ%,ﬁummaamqwm
Jfe s R WSy gF1 10 B TG @
O2E q &, @ 9ed ft 10 i ug
Tl 2

4

(2)

3

(4)

SPACE FOR ROUGH WORK / T& & & feTe g


http://upscfever.com

52.

53.

54.

Frever,”

R

Piaget believed that learning results from

social instruction and a mathematics teacher

believing in Piaget’s theory shall use

(1) lots of manipulatives and lab activities in
the.class

(2) group project and group discussion

(3) differentiated instruction

(4) chalk and talk method

Pradeep was shown a broken ruler

¥ 1 1 ] T
/ 2 3 4 5 6
is 5 cm on the ruler. He picked up the ruler
and pointed at the mark of 5 cm on the ruler.

and asked, where

His answer ,

(1) is correct as he rightly pointed out the
mark of 5 em on the ruler

(2) is incorrect as he is showing a point only
and not the distance between two points
marked as 0 and 5 »

(3) 1is incorrect as the ruler is broken and he
must start with 2 and should point at 7
as the desired mark

(4) is reflecting that he has the
misconception that 5 cm refers to a point
and not to a length

Uma was not able to understand the concept
of odd and even numbers. In order to improve
her understanding, the teacher took some 20
pebbles of different colours and asked her to
pair them up and sort out the numbers from 1

" to 20 for which pebbles get paired up or do not

get paired up. Uma

(1) is a visual learner

(2) is a kinesthetic learner
(8) is an auditory learner
(4) needs personal attention

(16)
52,

53.

fﬁmﬁwfﬁw %Wmﬁﬁﬁ q

@ﬁ@maaT% TIfSTa 1 T fYiers T %
g ¥ favarg #d g
() %@ H  ¥gd - gl

(manipulatives) R m"fﬁfﬁﬁﬁﬁ

.ﬁf@mm%aﬁt
qo1 o 3w d 5 A gl R | 98 FR
331 3 3R T W 5 A F Fem +

(2) T
LARE
(3) %mﬁgm

(4)

&

P 54
191
Es
£

8

4 4
G
E
g
&,

%
%
E

2

i 1
399 IS
20 T TEAT I Bied F T F71 R Feval
F SIS 94 I 3 e e 98 w9 ww | 3w
1) =negw foremeff @
@) IR Tiges femeff 2
(3) son forameff 8

3, 4
|
il

%«

(4) o I SH ) AEIET &
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55.

56.

57.

PFEVET”

‘various figures,

\S/ .

Rubrics of assessment. for the geometry lesson
on points and lines in Class 1V shall be

(1) can differentiate between line and line A

segment, can mark a point, can draw a
line segment of given length accurately

(2) can measure the line in ¢ms and inches
accurately, can name the line

(3) can measure the line segment in cms and
inches accurately and can mark end
points of line segment

(4) can differentiate between line, ray and
line segment and can definc them

In a class, a teacher asked the students to
define a quadrilateral in different ways

— using sides, using angles, using diagonals

etc.

The teacher’s-objective is to

(1) help the students to explore various
definitions
(2) help the students to understand

quadrilateral from different perspectives

help the students to memorize all

definitions by heart

(4) help the students to solve all problems of
quadrilateral based on definitions

3)

Students are asked to establish a relation
between vertically opposite angles. They draw
measure the angles and
observe that vertically opposite angles are
equal.

In this case, students according to Van Hiele
thought are at

- (1) Visualization level

(2) Analytic level
(83) Informal Deduction level
(4) Deduction level

(17)
55.

56.

E

w&l IV § fog 3t W W i o8 & foag

aeherd few g _

(1) @1 AR @rEE 0 HR gl 7, fog
fafgs = aear 7, & T TR & ATER
TYg €9 @ [@TEE @9 ghdl 8

(2 Tt R =i A W@ b uiyg §9 8 A
Gl B, @1 1 TH a1 Gohell &

3) Whyg &7 @ o o = A wEe #W
A eha @ 3 Ta@TEe % 3d: fagatt w
fufea =t gt B

(4) @, T o WgrEs # HdR W Tl @
3R 372 ity <t depat @ .

wegr § i foenfda = Rftm ser @

=g 1 uftfia w0 & g wad 2,

SR ST 1 T, FHION H1 WA, fawon @

T anfe | :

farfersr o1 3e9 2

(1) fafim sfommet 1 @eA 3§ faenfiE h

TR HET
2) faftm ofdemt @ =gfs = @wsm @
forentofat <Y werrar S
@) oft gyl @ wery wW ° faenfda
- <h) gEREl A
gRumyrell @ smatfa wgde it wft
memstt w '@ e A fonfiai @
"HETAT ST
faenfft @ Fwatm Tg@ Foi % ae gy
TTfid w1 & fu wer ST R 1 S+ i
diad 8, *I o Aud § R a8 Ed E
Fealel gy o FAM ¢ |
3@ Y U, 37 & & faar & rgan foef
1) =g % T W E
@) fovavomes TR W §
(3) =i i TR W E
(9 P wE

4
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58.

59.

60.

(2)

R

/€[,

Higher Order Thinking Skills (HOTS) based
questions demand the

(1
(2)
3
4)

knowledge of facts, rules, formulae
knowledge of algorithm
knowledge of symbols and diagrams

knowledge and some degrée of cognitive
efforts

Most appropriate formative task. to assess the
students’ understanding of data analysis is

(1) Quiz

Role play

Crossword

3)

(4) Survey-based Project

Classroom discussion was initiated in
Class V on ‘Sale’ in festival season, during
topic of ‘Percentage’. This type of discussion in
classroom -

(1) helps the students to listen to each
other’s opinion and encourages them to

present their argument

must be avoided as it raises the noise
level of class and disturbs others

(2)

helps the students to enhance their
debating skills

3

)

starts heated arguments in class and
spoils the atmosphere of the class

(18)

b8.

59.

60.

I= wE foad wive (HOTS) W angtia WA
__ Hhrumwa i

(1) ae, e, g % e

(2) Venien % IH

3) T¥at ok Bt F 7

(4) FB W1 d TFHTHS TAE IR FTH

AThgl & favamwor deeht faenfit 6 wme =
Ahe L & foru watfies 3fuya wurens w1
2 )

1)  IJad

@ fte fak (da <)

(@ wiugel

4) T Hu-sTEIRE TiEeE

TER % 0¥ $& V § gfowa e & o
X W R w1 & HI T8 | FE A 39 THR -
61 =i

(1) ThGW & a1 g § faafe 6
TEAT el § 3R AT T WA B
1 30e H T =TfRT FHF T8 wE F
R % &R A T 8 W EU H WA
EGI

AR Je-faare gedl Sl $ deH §
faenfofe ) gerEar it 8

ST § TR aell 98E AT ) @
@tmm%mﬁaaﬁwm%

(2)

(3)

4)

SPACE FOR ROUGH WORK / 1% &1d & forg g


http://upscfever.com

\\

R

/Er-

(19)

PART III / ¥ 01

ENVIRONMENTAL STUDIES / ugtaur 1egaq |
R : Rrfonaa 3o & 37 7 & ow qaq Il

Directions : Answer the following questions by

selecting the most appropriate option.

61.

62.

63.

64.

In the villages of Bihar many farmers do
bee-keeping and collect honey to earn extra
money. The best time to start bee-keeping is

1)
(2)
(3)
4

January to March
April to June
July to September

October to December

Select the one which is different from the
others :

(1) Petrol
(2)
(3)
(4)

\
Paraffin wax
Grease

Coal

‘Nepenthes’ is a plant which traps and eats

frogs, insects and even mice. In our country
this plant is found in ’ '
| (1) Arunachal Pradesh

(2) Meghalaya

(3) Assam

(4) Orissa

One Pashmina shawl is as warm as

normal sweaters and
hours are taken to weave a plain Pashmina
shawl.

(L
(2)
(3)
4)

10; 200
06; 250
06; 200

10; 250

fa®eq g |

61.

62.

63.

64.

fogr & wiial § wga A Fram arfafes o9 wae

% U AgoaE-ueH S WEE ThiAd HH 6l
FE B 2 | AYAFEUEH IE FA FH G
FFes! T

(1) SHah | =

(2) A Y H

(3) IR A

(4) Iag A femrR

3 TP S or=ii @ b

W TH TH N7 g S Aewl, AR
3R 97 S R SfEl At o o W™ W @l
ST B | §AR 2w B g dhen g Wl ]

(1). e 9

(2) TueE H

(3) 3I@mH

(4) 3nfem A

Th YYHIAT AT P HIYRo
el & SR T BT & qAT b FTUROT YR
WA B FH TG a2l H THY
AR

(1)
(2)
3
4)

10; 200
06; 250
06; 200
10; 250
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65.

66.

67.

(D

E)

(4)

R

The ‘group called Tarun Bharat Sangh is
associated with

f
f

rebuilding old lakes

(2) helping specially abled children in

learning

providing cooked midglay meal in
schools -

(4)

running free coaching classes for the
children belonging to EWS

Select from the following the characteristics of
the houses of Leh and Ladakh :

A. Slanting wooden roofs made of tree
trunks

B. Ground floor without window

C. Thick walls made of stones, mud and
lime ‘

D. Wooden floors

(1) AB,C

(2) B,C,D
3) C,D,A

A, B,D

Growing the same crop over and over and
using so many chemicals makes the soil

fertile’

(1)
(2) Dbarren
3)

useful for a special kind of crop

4)

fit for irrigation

(20)

65. TR W He AF W W 2

66.

67.

@)

gt 3ot Effla e @

oo =9 @ "am == W faEm # ueg
ook
Ek—c-ﬁ.ﬁaq‘gtwmgan%ﬂmwa
EXCIE RS ’

amfdh €9 F FASN I % F=A & A
e Ff Fgd Fe@m @

(1)

(3)

(4)

frafafaa 3 @ o8 o @er@ % wHEMl Hi
fafsreand gfiw

A U3 H A A S AR H BT B

B. fraeh #fve § #i¢ fageh 7

C. weeR, Tdl i = @ st At e

D. TSl & B

() A,B,C
2 B,CD
3) C,D,A

4) ABD

TF @ ag d Bud gRER I IR wga @
WRAT &% 3T % q 721

(1) IR (I991S) &9 1T B
(2) SR B IR

3) fomft fodiw wod & foq Swrht =9 S
H

@ &= & foe Iogew == S @
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68.

69.

70.

S 71,

For making Madhubani paintings the artists
use '

(1
(2)
3)
4)

specially made poster colours
fibre paints of very good quality
paints made by dissolving silver and gold’

coloured paste of powdered rice

Select from the following a group of diseases
caused by mosquitoes :

e))
(2)
3
4)

Malaria, Dengue, Cholera
Malaria, Chikungunya, Typheid
Dengue, Malaria, Chikungunya
Malaria, Cholera, Typhoid

Select the correct characteristics of petroleum
from the following :

(1) smelly, thick, dark coloured oil
(2)
(3)

smelly, thin, pale liquid

pleasant smelling, thin, blue coloured
liquid

4)

dense and dark fluid without smell

Select the correct statements about snakes :

A.  Only four types of poisonous snakes are
found in our country.

B. Cobra is a poisonous variety of snakes.

A poisonous snake has four hollow teeth
(fangs) through which the poison enters
the body of a person when the snake
bites.

D. Medicine for snake bites is made from
the snake’s poison.

(1) A,BandD
2)
(3)

4)

B,Cand D
C,Dand A
B,Aand C

(21)
68.

69.

70.

71.

E
Agefl fol @l F9M & foe fesrerl grr e
fope M a1t T B §
(1) o9y TR | 9 G
(2) i I TOET % FIFHR U=
(3) WA = s T i
(4) 9 guaIEd & o ad
frafafea # @ W0 &1 98 wg ghe S wsd
 Horar @
(1 wafeEn, 3, &

@ it fewnfaan, e gen

(3) <, Aaifen, faeRgin
(4) wafEn, &, i gEr

frafafes # @ Rform & @@ Ao
EEAE - |

(1) WTEER, Tel, Tal T & ad

(2) WGHICR, Y4, diell gd

(3) =B 1Y HI, yqen, Fien T 5@

(4) =1 7ig <A1 TR 9T MR T W WA

aidt & e o @l wum gihu |

A. TR W H Fhad IR d@ & gl B9 9¢
7 |

B. AW (wi=U) wEde aidl 1 sk T R |

Cc. wEie 69 % IR @Ed ofd 39 § | 9«
giq frdl =afs & FRAl & @ 9
@‘r@éaﬁiémwfiww%l

D. ® % H1 <l a8 G & T A § a8

ST B | ‘

ABdD

B,CdD

C,DI A

B,AdC

(D
(2)
(3)
(4)
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73.

74.

R

Frever,”

A portion of railway time-table for the route of
an express train is given below :
S. | Station  Arrival | Departure|Distance Da
No.| Name Time Time (km) Y
4 |Surat 16-15 | 16-20 530 1
Valsad 17-23 17-25 598 1
6 |Bhiwandi 21-10 21-20 772 1
Road
7 |Madgaon 7-35 7-45 1509 2
As per above information the distance between
Surat and Madgaon and the time taken to
cover this distance by the train, respectively
are
(1) 979 km; 15 hours 15 minutes
(2) 979 km; 15 hours 20 minutes
(8) 1509 km; 15 hours 25 minutes
(4) 1509 km; 15 hours 30 minutes
Al-Biruni came from a country now called
(1) Afghanistan
(2) Bangladesh
(3) Uzbekistan
(4) Oman
Select the correct statement about bronze

which was used in making big guns (cannons)
found in the fort of Golconda.

(1) Bronzeis an element
(2) Bronze is an alloy of copper and zine
(3) Bronze is an alloy of copper and tin

(4) Bronze is an alloy of copper and

platinum

(22)

72. A fore wralm &3 % Avl & W agEdEd
1 P JY fem

| ©IE FT UG W | T g

g | 9m arg | wrawm | () e

4 | g@ 1615 | 16-20 530 | 1

5 | gware | 1728 | 1725 598 | 1

6 | R 2110 | 21-20 772 |1
Ue _ ,
wenlag | 735 7-45 1509 | 2

73.

74.

SUT FET o YR W G AR wgine & o=
#1 gl a1 N W g H a9 HH H G
T AR B

(1) 979 TRl 15 gw 15 fime
@) 979 fwHY; 15 uve 20 fime
3) 1509 fopft; 15 592 25 fiFe
(4) 1509 fret; 15 Tue 30 fire

Fol-fereht g 2w @ et 3ges M R
(1) STHMEN

@) SRy

(3) IsufeREe

4) M

Har (F9) & fowg #, fgw suam Magve
% fpat o fireh dw # foran T o, v wuR
g |

(1) idT Tk o &

HiEr dfer (FR) qar e (RBes) A
Tasrarg 8

(3) iaT aren (MR qen foa 6 fsreng 2

(2

(4) hier dfen qe wifeAm 6 fyeng 2
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75.

76.

71.

_The correct examples were

While discussing about friction, a teacher gave
a number of examples to explain the concept.
Some of the examples where friction is useful.

in our day-to-day life as quoted by the teacher
are given below :

A. We are able to write because of friction
between the tip of the pen and the paper.

B. We are able to walk because of friction
between our feet and the ground.

C. A ball thrown vertically upwards comes’
back to us due to friction.

D. We are able to stop a moving vehicle by

applying brakes because of friction.

(1)
2)
(3
4)

A, Band C
B,Cand D
C,Dand A
D,Aand B

A public school has about two to three children
with special needs in every class. Some
children are physically or mentally challenged.
These children study with other children while
sitting in the same class. The public school
mentioned above follows which of the

following ?
(1) CCE
2)
(3)
(4)

Inclusive education
Peer education

Compensatory learning

Sarita’s teacher engages her in a number of
group activities such as group discussions,
group projects, etec. Which learning dimension
is her teacher following ?

oy
(2)
(3)

Learning through recreation
Language guided learning

Competition based learning

4)

Learning as a social activity

-]

(23)
75.

76.

77,

E

o % forwa o S0 ava v Rl 3 58

TeheUT h1 SIS hid g Fgd ¥ I o |
T A B W@ e A win g ehe
S o suanf 3, 39 fifees 3 wan 4 e w0

A B 9T Y Fi 3R wre & 9wy g9
% %R 8 for@ urd # | '

B. B9 %Y W gaR W 3R w3t & fiw udu &+
R ¥ 14 B |

C. StaltR SW Fehl T g g oo & HH
2 IR U 9198 et B |

D. udu % %ror ¥ gd Tt nifasfier e &t
e TR Uehd § |

(1) ABaC

(2) B,CaD

(3 C,DIA

(4) D,AdB

T UfecTeh Thal W S hall B amm § | fF
o= foRN smavEsar A 8 | 9 9= AR
1wk &9 § fwer (aft@) €1 s=
I S % T I Fem H TH WY Ued
39 ufeerh ot fe B @ e arguem

TR 2

Tdd Ud AU odiehd

At fSem

(3) THaEh e

(4) wfoqe sifmm

g 61 Wifyen 3@ faftm angfes nfafafet 4
it @t 2, S — ggg-eEt, agg-uiEse,
anfe | okl Rifdem died & fopm emam @
I IR ?

(1) TARSH R EREAT

@ so-FRRE e

(3) wiafirar smenfa e

(4) g fafeafe o w9 o drgan

o))
2
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78.

79.

80.

81.

(4)
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A Science Exhibition was organiéed in Rohan’s
school. It was organised with an objective.
Which in your view is the most appropriate
objective ? '

(1
(2)
3)

=
=

Train students for various professions
Provide a creative channel for learners
Establish a name for the school

Satisfy the parents

An effective teaching-learning will happen in
the class when a teacher helps or facilitates to
link the knowledge a student has with the
new concept to be taught. The objective behind
this is to promote

(1) correlation and transfer of knowledge
) |
3)
(4)

individual differences
learner autonomy

reinforcement

While doing experimenfs and practical work,
Shyama’s performance is the best in.her class.
She is considered a very creative person. So,
she is learning a concept by

(1) imitation
(2)
3)

4)

convergent thinking
divergent thinkihg

modelling

Environmental factors that shapé the
.development of a child include all of the
following except

(D
(2)
(3)
(4

physique
culture
quality of education

quality of nutrition

(24)
78.

79.

81.

g & forner o o fagm WeRi =1 smem

TR TR W | SHeT SRS Th 3 % WY

frr w1 | u fomm @ PR RW

Taifies 39T B 2

1) fafim et % R e = ufifia
T

2) fuenfRn & fou gommers meaw Suesy
HAT

3) formera 1w wferg s

(4) ARTER! HB GGE HET

Ha1 Uyl Frgororftrmufen @ @ S
g o=l & §9 B TR I A T
oYl o Y A § HEEA LT & | 36
ured o ffed 3eva 2 <l Sgrl
LIl

(1) FH % gurg U6 TERY

@ dafes Rremst

3) Toanefi-Tamraa

(4) YAeH

WM SR FETHS HE A §C WM H
feare e d waA8 81 § | 30 9gd oIS
freneff wrm s 2 1 gafoe T8 '

% g Gehoutall st diEdt ? |

(1) IR

(2 IftErd faa

(3) sruEd aa

(4) Higfer
oA S % e R
A g g s d frafafaa o
it & | |

(1) i T

(2) HEPR

3) Toan i quesn

(4) Df¥emar A e
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82.

83.

84,

85.

R
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Seema learns every lesson quickly by rote
method, whereas Leena understands each
lesson after discussion and brainstorming. It
denotes the developmental principle of

(1)
(2)
3
4)

=
=

inter-relationships
individual differences
general to specific

continuity

In co-operative learning, older and more
proficient students assist younger and lesser
skilled students. This leads to

1
(2)
(3)
(4)

higher achievement and self-esteem
higher moral development
conflict between the groups

intense competition

Dyslexia is assoéiated mainly with difficulties
in ’

(1) -
(2)
3
(4

heax"ing'
speaking
speaking and hearing

reading

The use of poems and story-telling to explain
concepts in an EVS class helps to

(1)

take care of the language and cultural
diversity among learners

‘channelize the energies of the students
in the right direction

(2

make the lesson and

interesting

3 enjoyable

(4) promote the ability to imagine and
explore the nature of the world at the

local and global level

(25)
82.

83.

84.

85.

(3)

E

o Y TS W @R g W ol & s
o =gt @ sifin (afeash oTrelie) & 91g

YRR UB K TR R I TE _ ®
forprarenss gl 1 oI Hahd a1 ? |

(1) a.gm=9g

2) Jahme REaet

3) gm= A fafiw ) I

4y TRea

ggaeas e § WA wd ftres g feremeff
B wd A FuA el w1 rehen w@ ¥ |
ESEAR LI

(1) 3 IydAfey IR GIRET

@) = v fowm

(3) GHgiH g3

4)

& ggEn &

Wﬁtmawaﬁaﬁmmﬁémaﬁﬁm
w4 & fou wfamasti R Farsm 1w
HEAT FRITA! HET R |

fenfelai § ffge ww w Hr@pﬁﬁ
fafaaaraett o1 <9 WA §

ol foum # feenfefat it st o1 Wit
Cack:

13 T G IR TFh R H

T Td AfYa® TR W GER 6 YHia H
GIoA 3R Hew T A S I H T
Eck

@

2)

4)


http://upscfever.com

W\

86.

. 87.

88.

89.

90.

(1)
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A teacher uses audio-visual aids and physical
activities in her teaching because they

(D
2
3

facilitate effective assessment
provide a diversion to learners

utilize maximum number of senses to
enhance learning

4)

provide relief to the teacher

The best way t;) assess a child at prirﬁary level
is to use

Portfolios

(2) Periodic tests
3)

4)

Home assignments -

Summative assignments

The following are the methods to teach EVS
except

(1)
(2)
3
4)

Explaining through lectures
Problem-solving
Cooperative learning

Guided enquiry

EVS teacher should
(1)
(2)
(3)
4)

focus exclusively on experiments
focus exclusively on books and tests
accept and respect perception of children

accept and respect views of parents

Exercises and activities in an EVS text-book
should be provided

(1) at the end of the unit

(2)
(3)
(4)

at the end of the chapter
inbuilt in the topics

at different places in the book

(26)
86.

87.

88.

89.

90.

Tk fe wen W weagy wmiEl w
it nfafafRrt &1y s g =it 3

(1) Y9 MheE W A 8
@) Tt o femn-afeds Sueey wua &
3) oImm gig & sifomaw 3+ IwEm
& 7
(4) TRIEre Y W IYeted HA B
Tfieh W W g I AEhST A Hl GAIE
e 3 T SN HET |
1) aHfer
(2 orafes g
@) TrwHE
(4) ANt T .
* o fEfafga  gafam
T g & faftat § |
(1) SAEIH R T8 HT
(2) UEE-IEYgH
(3) wEAmTeHs Tl
@ fERkm e
el 7T % farenl @t
1) fadva: v W am e =i
@ fovma: gt iR wlemedt w e e
- wTRY
=l & G H WHR FAT T THA
o =g
Ayl & foemdl 1 WeR w6 W
R A TR
i A ) TEH-gEH A I W
Tttt = IueTsY AT AT |

(3)

“4)

(1) T8 *IH

YB*IAqH
gl § 3a-fafifa
YT | STHT-STeHT T} W

(2)
3
4)
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as

LANGUAGE - L.

el Befifad WM % T I
Waﬁﬂéaﬁr@ﬁw—lw
ﬁwaﬁvﬁﬂmél
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PART IV

LAI?GUAGE I
ENGLISH

Directions : Read the given passage and answer the
questions that follow (Q. No. 91 to 99) by selecting
the most appropriate option.

The day the cat was killed, Maddy watched her
mother wind that old clock with her same little
smile, cranking the gold key into its funny little
hole, as grandma wandered around the dining table
in her dressing gown while her nurse read a pulp
fiction on the front step, while her brothers scraped
their forks against the table and dripped the last
bits of potatoes and corn from their open, awful
mouths, that clock sat heavy on the white carpet, at
the end of the hall, mom humming along to that
terrible ticking. It made Maddy’s teeth clench.
Truly, there was no point to these silly, endless
family dinners. Always being six o’clock sharp and
never over until that clock was wound, thirteen
vears of her life wasted for this nonsense so far,
burnt up in boredom, when all the while she had
some very important matters to attend to back in
her bedroom.

The longcase clock had been left by ‘the
previous owner, or maybe the one before that, no
one was sure. Cloaked in pine wood and always
counting, no birds printed around the clock face, no

farm scenes or flowers, just black numbers and wiry

hands and that was that. Then near the bottom, a
long silver pendulum behind a square of smokey
glass. It was too heavy to tip, too tall to place
anything on top, old and faded and always suspect.
Her brothers avoided it at night and the cat avoided
it entirely (or used to). The clock face glowing round
and white, over the wooden suit, like a pale faced
ghost or a porcelain reaper, feetless and shadows for

arms. And mom would sing along with thel

" pendulum while the boys knocked over the kitchen
chairs wrestling and playing tag, and grandmother
would nap by the television and the nurse would
paint her nails. All the time, her mom would smile
and hum.

91.

92.

93.

94,

95.

The use of the word ‘cranking’ conveys the
meaning that

(1)
@)
3)

C))

The

the key did not fit the lock properly
the clock doesn’t work

the key was used with irritation on the
mother’s part

gold was not a suitable metal for a clock
key

siblings were ‘awful mouths’ is the

following figure of speech :

(1)
(2)
(3)
(4

Comparison
Oxymoron
Transferred epithet
Epigram '

“Truly, there was no point to these silly,
endless family dinners.” The correct
transformation would be

(1)

(2)

(3)

(4)

The subject found her siblings mentally
unstable and took long to finish dinner.

Her mother forced her to sit through a.
lengthy dinner ritual.

The food could only appeal to the
youngsters, not a teenager.

The subject was pre-occupied with some
personal work and was impatient with
others at the dinner table.

The tone of the story is

(1
(2)
(3

4)

biographical
narrative
reflective
autobiographical

The clock was ‘always suspect’. The subject
thought

1)
(2)
3
4)

that it wasn’t working at all
it tended to move slowly
it broke down periodically

it had one hand missing
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96.

97.

98.

99.

Fever.*

“The clock face was glowing round and white.”
This observation is further enhanced by the
observation that it was like

1) gold -

2 di
(2) radium .

(3) silver

(4) ceramic

“It made Maddy’s teeth clench.” The idiom ‘to

clench one’s teeth’ can be introduced in an

EBL class by '

(1) giving a detailed meaning of the
expression

(2) giving other similar idioms and asking
children to guess the meanings in
context

(3) guiding students to find other ‘“teeth’
idioms on their own by looking up the
word ‘idioms’

(4) giving a worksheet where students use

the idiom in a number of situations

The word in the story means
‘incline’. [para 2]

(1) hum

(2) sharp

(3) tip

(4) drip

“All the time, her mom would smile and hum.”

This suggests that Maddy

(1) admired her mother’s calm

(2) thought her mother was indifferent to
time

(3) was convinced her mother was more

attuned to the mechanical working of the
clock — not the time

(4) thought that her mother didn’t care
about her family

(29)

E

Directions : Read the given poem and answer the
questions that follow (Q. No. 100 to 105) by selecting
the most appropriate option.

Human Nature

Is it human nature

to desire forbidden fruit,

to hunger for a blossom

so obsessed with passion

that we forget the pain,

which inevitably arises

once we tease ourselves

with the thought of it

or taste a tiny part of it,

and it becomes the predator

eating at us like a carnivore

that saves the head for last

savouring the brain to feed its own

and we, still craving illicif nectar

enjoying the fact that it is devouring us ?
' C.J. Grant

100. Another word in the poem that suggests
" ‘forbidden’ is ' '

(1) obsess
(2) crave
(3) savour

(4) illicit

101. “It becomes the predator” means

(1) strong emotions influence one negatiyely
(2) pursuit of happiness
(3) Dbeing cautious against outside influences

(4) being strong and positive against any
threat '
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102.

103.

104.

105.

R

,—l (30)
An example of personification in the poem is 108.
(1) saves the head
(2) tcase ourselves
(3) illicit nectar
(4) like a carnivore
“Eating at us like a carnivore” refers to
(1) Dbeing attacked by a wild beast
(2) being attacked by a human encmy
(3) being caten up by an unknown entity
(4) excrting a strong influence
“We, still craving' illicit nectar” can be 109.
explained by focusing on the word
(1) we
(2) craving
(3) illicit
(4) nectar
A synonym for the word ‘savouring’ is
(1) smelling
(2) flavouring
(3) experiencing
(4) avoiding

Directions : Answer the following questions by
selecting the most appropriate option.

106.

107.

Decorum in spoken language pertains to

(D

correct grammatical usage

(2) voice quality or loudness
(3) clarity and purity of style
(4) appropriate gestures

“You ask, what is our aim ? I can answer in
one word : Victory.” Churchill asks a question
and then gocs on to answer it. Such a question
is

1) a prompt
(2) cxplanatory
(3) rhetorical
(4) stylised

110.

-

A fellow traveller at the airport has just

finished réading the newspaper and you want
him/her to pass it to you. Choose how you will
make the request.

(1) Pass me the paper.

(2) DPass me the paper, please.

(3) Can you pass me theApaper ?

(4) Could you possibly pass me the

newspaper ? :

Read this exchange.
Teacher : Do you like to read a story book
instead ?
Student : Yes.
Teacher : Yes, please.

IIcre the teacher

(1) confirms the student’s request
. (2) offers an alternative language activity
(3) relates languagé function with politeness
(4) makes a polite suggestion to start
rcading

Which is a function word ?

(1) however
(2) booking
3) principal |
(4) someonc

111. Strut, stride and trudge are words that

describe a manner of

(1) galloping
(2) running
(3) riding
(4) walking *
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112. The documents have been downloaded by the

students.
The students have downloaded the documents.

The two given statements can be
differentiated by drawing students’ attention
to the

(1) use of ‘by’ in the passive form
(2) differences in the arrangement of words
(3) roles of the subject and object in both

sentences

4)

change in the verb forms

113. Which pair constitutes types of ‘cognitive

style’ ?

(1) Individual/team work

(2) Project oriented/paper-pencil activity
(3) Grammatical accuracy/fluency |
(4) Field dependence/ﬁeld independence

114. The process of word formation consists of

115.

(1) compounding and conversion

(2) conversion and meaning

(3) spelling and corhpoundin-g

(4) using synonyms or euphemisms .

When reading, to ‘decode’ means to

(1) make notes

(2) read superficially for the general
meaning

(3) recognize words to understand their

meanings

4

replace long words with symbols

(31)

116.

117.

118.

- (2)

119.

Speaker 1 : Where are you from ?

Speaker 2 : Kashmir.

During the assessment of students’ speaking-
listening skills, mark/s would be deducted
during this exchange for

(1) the first speaker

(2) the second speaker
(3) both
(4) neither

While writing, one of the cohesive devices used
is

(1) - phrase

(2) ellipsis

(3) adjective
(4) preposition

If the piece of writing is brief, complete, in the
third person, without digressions
emotional overtones and logically arranged, it
isa - '

and

(1) classified advertisement
memorandum

3) repoft

(4) newspaper article

Use of the medium of motion pictures offers

a/an experiehce for the student.

(1) abstract
(2) indirect
(3) concrete
(4) vicarious

120. According to the recommendations of NCF

2005, technology could be integrated

(1) with the larger goals and processes of

: educational programmes

(2) with revisions to meet current
developmental policies of the Central
Government »

(3) as an add-on to the main educational
goals

(4) used only judiciously ‘subject to the -

economic and social goals of a community
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Candidates should answer questions
from the following Part only if they
have opted for HINDI as

LANGUAGE - 1.

glieqrefil fferfiaa 9w & 9ol % IW
Had aft ¢ AR /A 9w — I\
foreheq fa=at 1 @1 |
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qrIv
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91.

(2)
(3)
(4)

92,

(2)
(3)

4)

93.
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96.

97.

98.

99.
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as

LANGUAGE - 1II.
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PARTV

LANGUAGE I1
ENGLISH

Directions : Read the passage given below and
answer the questions that follow (. No. 121 to 129)
by selecting the most appropriate option.

Nammescong Creek flowed into the backs of
my thighs as I fished, pausing between casts
to secure my balance in the current and
admire a new hatch of pale yellow mayflies lift

* from the stream. Over my shoulder, the sun

dropped into a farmer’s cornfield, the final
patch of orange light on the water enough for
me to spot the small, vaguely metallic object
at my feet. Retrieving it, I ran my thumb over
its raised lettering, rubbing away the mud and
a string of algae. A name appeared, along with
an expiration date. June 1984. I had
discovered arrowheads here in the past, so it
didn’t seem misplaced to find a tool used by
modern man to obtain a meal.

I took a moment to consider how the card had

" come to rest in the bed of the Nammy. I
_'thought maybe there was a story in it. I was

curious to know if the owner had lost his
wallet while fishing, the whole trip ruined the
second he’d inventoried his cash or dug out his
license for a game warden. Over time the
leather would’ve rotted into fish food, with the
scoured plastic remaining. I wondered how
many miles the card might have ridden on
spring floods over the past quarter of a
century. For all I knew he could’ve been
robbed, the thieves stripping out the money

‘and tossing the billfold away later as they

crossed a bridge.

Looking him up and phoning, I recited the
card number and issuing bank. He laughed,
recalling it as the first credit account he’d ever
taken out, a line of imaginary cash in those

years when he had no real money. But that :

finally changed, he explained, after an

121.

122.

123.

industrial accident cost him his left eye, the
payoff from the plant enabling him to retire
eight years earlier than expected and move to
a small hobby farm in southern Virginia. He
told me a glass eye wasn't his style, so he had
taken to wearing an eyepatch, which his wife
still hates and his grandchildren — ages
three, five, and séven — have always loved, as
it makes Grandpop look like a pirate. He
called them his Miracle Grandbabies, born to

‘a daughter who struggled with alcohol and

drug addiction for years — her rock-bottom in
1984, a year before she cleaned up for good.

But in the end the man couldn’t remember
ever losing his wallet, either by accident or
theft. He said he’d never fished the Nammy,
that, in fact, he’d always thought the sport a
little boring, and so I came to realize there
was no story here,

“Flowed into the backs of my thighs” informs
the reader that the narrator was fishing while
1) sitﬁng on the river bank

(2) his legs were hanging in the river

3’ standing in the river '

(4) walking across the river

‘Scoured’ means

(1) drenched

(2) cleaned

(3) bent shapeless
(4) discoloured |

“...a tool used by modern man to obtain a
meal” in this context is a/some -

(1) fishing rod
(2) money

(3) coins

(4) credit card
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124. ‘The whole trip ruined’ was because of the

125.

0V
(2

(3)

4

sudden appearance of mayflies

loss of the wallet, for its ‘owner’ who had
given up his/her holiday

orange sunlight falling on the water
thereby disturbing the fish

narrator’s attention being diverted by his
find

By ‘looking him up’, the narrator

(D
(2)
(3)
4)

referred to a telephone directory
attempted to meet the ‘owner’ personally
called him up through an operator

found out about him through various
sources

126. ‘A small hobby farm’ would be

(1)

(2)
(3
4)

an open space where rare animals are
cared for

a small zoo in the béckyard
a commercially successful farm

a farm run without any profit

127. The ‘owner’s’ daughter had cleaned up by

128.

(1
2)
3)
4

getting married

having two children
giving up a destructive lifestyle

choosing to stay with her parents

There was no story because

(1)

- (2)

129,

(3)

4)

what he found out showed that the
‘owner’s’ life lacked adventure

he was disappointed that the ‘owner’ was
well to do

the ‘owner’ did not share his interest in
fishing

the reality did not live up to his
imagination

A word in the story that means ‘soar’ is

(1
(2)
(3)
4)

born
lift
plant

rub

Directions : Read the passage given below and
answer the questions that follow (. No. 130 to 135)
by selecting the most appropriate option.

1. The No Child Left Behind Act of 2001 has
served as a catalyst in many school
improvement efforts. Schools in the United
States are responding to meet the challenge of
these improvement efforts, although in doing
so, some are caught in a decision-making and
funding quagmire. They ask, “How can we
best support teachers so that all students can
succeed ?” Using technology as a means of
closing achievement gaps is one option schools
are considering more purposefully and
effectively. This includes using assistive
technologies for students with special needs
and creating a systemic approach to change
that benefits all students, including
subgroups.

2. Assistive technologies are technologies that
support students with disabilities, of which a
total of 6.5 million were being served through
the Individuals with Disabilities Education
Act of 1997. This Act defines an assistive
technology device as “any item, piece of
equipment, or product system, whether
acquired commercially off the shelf, modified,
or customized, that is used to increase,
maintain, or improve functional capabilities of
a child with a disability.” Regardless of their
previous experience, many administrators and
educators are expected to be change agents of
school improvement efforts today and be well
versed and knowledgeable about assistive
technologies, despite the fact that the
definition of assistive technology is so broad
and the field is relatively new.

130. “Schools found themselves in a funding
quagmire.” Here, ‘quagmire’ means

(1) boggy area
(2) isolation

(3) indebtedness
4) quicksand
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132.

133.

134.

135.
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/el

According to this report, ‘achievement gaps’
can be closed by

(1) investing on more reference books in the
library

(2) conducting after school special classes for
weak students

(3) getting more financial support from the
government

(4) recruiting and training moral personnel

to help the special needs children

Functional capabilities constitute the

(1) ability to go for higher studies

(2) the skills to cope with everyday
challenges '

(3) the deter_mihation to succeed

(4) exceptional talent in academic or literary

activities

A ‘product system’ here means

(1) services or financial investments that
are not commercially value-adding

(2) important resources not available to the
disabled persons

(3) special training equipment designed for
disabled children

(4) products that are freely accessible to

schools only

Find a word in the report that means ‘widely

circulated’.

(1) systemic

(2) achievement
(3) product

(4) change

The antonyrh for the word ‘hindering’ would be

(1) challenge
(2) disability
(3) assistive
(4) customized

(40)

Directions : Answer the following questions by
selecting the most appropriate option.

136.

137.

138.

139.

140.

T loved Ophelia : forty thousand brothers
Could not, with all their quantity of love
Make up my sum’.

The phrase . forty " thousand  brothers’
illustrates a figure of speech called
(1) imagery

(2) personification

(3) hyperbole

(4) allégory

The homonym of jbier’ is

(1) bear

(2) beer

(3) bare

(4) bar

A rhetorical question is asked

(1) to gather personal information

(2) to clarify a concept

(83) for the sake of effect with no answer
needed

(4) to get a feedback about what others

think about your speech/writing

Aﬁ example of linking adverbials is

(1) the
(2) these
(3) so

(4) your

Language acquisition

(1) . requires the memorization and use of
necessary vocabulary

involves a systematic approach to the
analysis and comprehension of grammar
as well as to the memorization of
vocabulary

refers to the process of learning a native
or a second language because of the
innate capacity of the human brain

is a technique intended to simulate the
environment in which children learn
their native language

(2)

3

4)
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143.

144.

145.

146.

N4

’ /
According to NCF 2005, learning of English
aims »
(1) to enable knowledge acquisition through
literacy and its development into an
instrument of abstract thought

(2) to subsume the languages that a child

acquires naturally from her/his home

and societal environment

to introduce standard sign language in
English for children with language-
related impairments

to provide adequate facilities at the State
level for instruction in English at the
primary stage of education

3)

4

‘While listening’ means a stage

(1) when students are listening for pleasure
(2) when students are listening to a
recording of a natural conversation
(3) where the students attempt a listening

task
(4) = when a listening activity is introduced

Student A and Student B ask and answer
questions to complete a worksheet. This is

(1) an information transfer activity
(2) arole play ‘

(3) an information gap activity

(4) acontrolled interview '

Criteria of assessment is a/are

(1) guidelines with marking scheme

(2) question-wise distribution of marks

(3) general impression of a student’s ability
(4) scoring key

In the word ‘scarce’, the phonetic transcription
for ‘a’ is

(1) /el

(2) /ed/

3)  fie/

4) /ae/

Notes can be made using a flowchart or a web-
diagram. The study skill involved is

(1) storing

(2) summarising
(3) retrieving

(4) gathering

(41)
147.

148.

149.

150.

E

The students make mistakes while playing a
grammar game. The teacher should

(1) call aside the erring student and offer
some guidance

(2) call aside the student incharge in the
group and instruct him/her to guide the
student

(3) quietly note down the mistakes and hold
a remedial class for the ‘erring’ students

(4) quietly note down the mistakes and

discuss them with the class after the
activity

What is taught is not what is learnt because
(1) a teacher or learner can never fully
master any discipline

(2) students pay attention during informal
discussion

(3) a teacher’s socio-economic level mady
differ widely from the students’

(4) students possess different” abilities,
personalities and come from a variety of
backgrounds

Learners are familiar with the concept

‘cyberspace’ due to their cognitive overload.
Therefore, learners

(1) may end up studying more meaningful
topics in class
may explore
according to their own experience,
background and perspective while
spending considerable time navigating
for content

usually omit studying prescribed but
important topics .
may be exposed to a sequential and -
cohesive expository presentation

(2) their interests

own

(3

4)

Constructivism is a theory where students

(1) study a variety of dissimilar samples and
draw a well founded conclusion

form their own understanding and
knowledge of the world, through
experiencing things and reflecting on
those experiences

are facilitated by the teacher and use a
variety of media to research and create
their own theories

construct their own learning aids,
thereby gaining hands-on experience

(2)

3

(4)
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Candidates should answer questiohs
from the following Part only if they
have opted for HINDI .as
LANGUAGE - 1II.
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READ CAREFULLY THE FOLLOWING INSTRUCTIONS :

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball ‘Point Pen on
Side-2 of the OMR Answer Sheet. The answer once
.marked is not liable to be changed.

2. The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with
care, as under no circumstances (except for
discrepancy in Test Booklet Code or Number and
Answer Sheet Code or Number), another set will
be provided.

4. The candidates will write the correct Test Booklet
Code and Number as given in the Test Booklet /
Answer Sheet in the Attendance Sheet.

5. Candidates are not allowed to carry any textual

" material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other
material except the Admit Card inside the
examination hall/room. _

6. Each candidate must show on demand his/her
Admission Card to the Invigilator.

7. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/
her seat.

8. The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign the Attendance
Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be
deemed not to have handed'over the Answer Sheet
and dealt with as an unfair means case.

9. Use of Electronic/Manual
prohibited.

10. The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules and
Regulations of the Board.

11. No part of the Test Booklet and Answer Sheet

- shall be detached under any circumstances.

12. On completion of the test, the candidate
must hand over the Answer Sheet to the
Invigilator in the Room/Hall. The
candidates are allowed to take away this Test
Booklet with them.

Calculator is

10.

11,

12.
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'PART -1/ 90T -1
CHILD DEVELOPMENT AND PEDAGOGY /et ﬁmm q ﬁrr&mm'a

. Which one of the followng is true ?

(1) Androgens are female hormones

(2) Estrogens are male hormones

(3) Progesterone is not responsible

' for high pitched voice of girls

(4) Both androgens and estrogens
are present in girls and boys at
puberty

Which of the following predicates is

most appropriate for including co-

scholastic areas in the curriculum ?

(1) Co-scholastic activities remove
disparity in students.

(2) Co-scholastic activities
alleviate the stress caused by
routine teaching.

(3) Physical, social and emotional
developments are interrelated.

(4) Co-scholastic activities reduce
the workload of teachers.

Zone of proximal development in

Vygotsky theory is

(1) Tasks too difficult for children
but can be achieved through
adult support themselves.

(2) Teacher’s interference hamper
learning.

(3) - Development is a proximal
zone of growth.

(4) Learning takes place in formal
settings only.

RTE Act refers to which one of the
following with reference to disabili
(1) Persons with Disability Act,

1996

(2) Disability and the Equality Act,
2010

(3) Disability Discrimination Act,
1995

(4) Disability Act, 2005

1

ﬁmﬁiﬁaﬂﬁﬁmmm%?

(1) UESH o e § |

(2) TEISH 59 g € |

(3) UNRIT wEfdl § Iw9 AR
a@m%mmﬁqﬁél

(4) UgE AR GRS TET a?mﬁ:
el i oigs o
wAE |

frafefega & & =9 @ ofiem

AT H WE-Se g e

(3) i, R diR e

(4) e niafafdt Rl ¥
FE IR F FH FEE

argee & fagia 9 adiuey e @

e

(1) w=at & fo & sga st e
B & AT Tl B eI @ A
I% TG U H GHA € |

2) fmerr #1 eEy W@ @ S
FATE |

(3) faww gfgw T &3¢ |

(4) HE Had v fafat |
BEae |

foren w1 atfyee atfufray Fatear &
g o fyeferfae & @ frast oI 93
HATE 9 ‘
(1) Taeremm sty stfufam, 1996
2) e iR wumar  sifufaas,
2010
(3) Tt fog arfufram, 1995
(4) Fratrgar siufaas, 2005
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Adolescents conform to peer-
pressure to fulfill their needs related
to

(1) belongingness

(2) safety

(3) self-actualization

(4) self-efficacy

‘G> factor, with reference to
intelligence is

(1) a factor that predicts the level
to which a child can be

‘groomed’

(2) standard deviation in the
normal distribution of
intelligence

(3) the general term for measuring
mental ability

(4) guidance needed for child to
boost his/her IQ

The following can be used as

alternatives to assess intelligence

except

(1) time taken by a student to
respond to a question

(2) ability of students to gdapt

(3) ability of students to attract
teachers attention

(4) Piagetian tasks

While teaching, a teacher should
reflect on the following facts except

(1) understanding of the learning
goals

(2) compensating the loss of time
occurred in sharing learning
goals with students

(3) devising appropriate method to
achieve these goals
(4) designing of assessment to

know what students wants to
know

3

P
feeme ¥ gefuq  etoer
AEvEEAS B Y WA H o
FHITE-THE % STET T A ¢ |
(1) 3o

(2) guw
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ford ™= wm
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4) TE= EEdted
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I AEER FH F BN A g
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(3) T WE B AW FH F e
UG TET @

(4) T® SR ¥ fow fe fenet @
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Teachers in order to complete their

lessons quickly expect answers from

a preferred group of students of their

choice. This

(1) requires skills to
students who can answer the
questions more often

(2) is necessary to keep going in
class to cover syllabus

(3) deprives other students equal -

opportunity
(4) supports students who take

interest and become teachers
choice

An effective way to reduce gender

bias may be

(1) to run unisex schools with both
male and female teachers

(2) to run co-ed schools with both
male and female teachers

(3) to run unisex schools with only
female teachers

(4) to run co-ed schools with only
female teachers

High dropout rates in primary classes

can be attributed to the following

except

(1) irregular attendance

(2) lack of awareness of parents

(3) lack of proper teacher training

(4) lack of initiative on the part of
government

The Right to Free and Compulsory

Education-2009 prohibits which of

the following ?

(1) Contesting an election by a
school teacher

(2) Running preparatory schools

"~ under the same school building

(3) Running of schools without .

recognition
(4) Running of schools by foreign
companies

identify

“@
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Individual differences among
students can be the basis for
including

(1) Multiple modes of teaching
(2) Multiple modes of assessment
(3) Multiple assessments

(4) (1) and (2) both

The following will let the learner
control of instruction except

(1) Asking learner to select
information source
(2) Asking learner to relate

question to objective

(3) Asking learner to memorise the
information

(4) Asking learner to
transaction method

choose

Which of the following may be a part

of constructivist learning situation ?

1) Cognitive apprenticeship

2y Cognitive drills of wrnting
answers

(3) Contextualisation

(4)  Multiple manifestation

Which one of the following can be
best used in teaching to encourage
democratic  living among  the
students ?

(1) Lecture method

(2) Social interaction

(3) Discovery method

(4) Experimental method

Which of the following points should

be considered by a teacher while

preparing an  assessment that

supports personalisation of learning ?

(a) Provide a range of assessment
to ensure inclusivity

(b) Involve students in decision
making about assessment and
practice

(c) Plan a common date, time and
method of the assessment

(1) only (a)and (b)
(2) only (b)and (c)
(3) only(a)and(c)
(4) (a),(b)and (c)

(5)

13,

14.

15.

16.
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(3) @-IHEA
@) (1) IR () 3H
¥ aremman Fr=fefaa et =t
FRIA W o s 3§

(1) I & & 999 FH F &0
forerredt @ et

(2) 3T T Uy B HWENT FH F
fore ferenrel 9 e

(3) 9 W AR FA F o feremrdt
T Fe :

(4) TuURA-uga 1 999 w3 F fou
Toremelt | ==

freafafea & @ Ty

Fum.fefdm T s IFma €

(1) Hsmredes ufeneqor

(2) I @ 1 GuEeEE InaTy

(3) Hedfeto

(4) =g

Prenfaal § wedifaes sieg w5t deded
FH & fou fowror o F=fefes 9 @
ferget vt gag 399 ol% 9 e o
THATE 2

(1) == ugha

(2) amteTE of fsra

(3) @ ugfa

(4) TIor Ugta

et & dafsseo § B w3

A FHAT W GG FA THT TH

forere g7 freforfae o @ fe fegeti @

g e s aike 2 -

(a) wHEYA @ gRfvaa &= % oo
3THA-UHT IASH HIAT |

(b) e 31T g™ % SR | fol
o | frenferat = wine w0 |

(c) e H TH ARG, F9T A7
ugfa = AT S9E |

(1) % (a) 3 (b)

(2) %A (b) 3R (c)

(3) T (a) 3K (c)

@) (), (b) AR (c)



http://upscfever.com

19.

" 20.

21.

22,
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Which of the following should be

considered the most important

quality of a teacher at primary level ?

(1) Eagerness to teach

(2) Patience and perseverance

(3) Knowledge of harmless ways
of punishing

(4) Competence to teach in highly
standardised language

In order to encourage achievement
motivation in the classroom, students
should be taught to attribute their

good grades to

(1) their own hard work

(2) their own high level of
intelligence

(3) the easy mnature of most

academic tasks
(4) their teachers generous gradmg
standards

Which of the following can be
considered a sign of motivated

teaching ?

(1) Maximum. attendance in the
class

(2) Remedial work given by the
teacher -

(3) Questioning by students
(4) Pin drop silence in the class

Which of the following promote
social learning ?

(1) Collaborative learning

(2) Summative assessments

(3) Brainstorming

(4) Formative assessments

Ability Grouping of students should be

(1) Discouraged as it gives the
message that ability is valued
more than effort.

(2) Encouraged as it maximizes the
learning with teachers using
special method to suit the
specific group.

(3) Encouraged as it promotes
competition among students.

(4) (2)and (3) both

(©6)

18.

19.

20.

21.

22,

e ww W fafefeg © @ @m0

ﬁmw@%m@mww

=feT 2

(1) Toreror =t gy g1

(2) 94 AR oremEwEEm

(3) mﬁrz%ﬁa@%#ﬁfaﬁa%mm

(4) I=H WHE 9EE OO H UgH @
eI

T e H IoeAfsy Ao @t wemtEa

FA ¥ oo frenféat #t g8 samm ofee

% 37% T YT RO &

(1) It O Bea

(2) S U g F I ®WR/

(3) iy St wEt W WA

. PN
(4) ST Tl & EREE dfenm
qFE ‘

frafefaa & ® = @ ahnfe o
T Tohel & ThAT & 2

(1) ==Y ifusray suferfa

(2) ot gr1 fean T STERTCHSE FY
(3) Ternferat g v g

(4) RO rga G

frafefaa & @ =7 afse dem =
TeATTed L € 2

(1) SEIers SRem

(2) JNTEHF HEH

3) st (i smets)

(4) TUCHS ATHAT

e T ferenfeat 3 gt @

(1) fFreeafen frar s oifee ==ifs
qg WV 3 § T warw =y e
grrgen &1 AfuF I e §

(2) Ve fea s OifeT wite TF
T T % fore suge wsfr

foer g v s W A
srwad BT ¥ |

(3) W fRr s ke w6fE @
forenferalt % wRRAfET B SE@T A Y |
@) (2) IR (3) A
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23.

25,

R
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Which of the following is most

effective in preventing the problem

behaviour in children ?

(1) Making the problem child sit in
the library for the entire day.

(2) Providing the problem child

nonaggressive ways of

handling conflict.

Compelling the problem child

to feel sorry for ‘their

behaviour.

Ostracizing the problem child

in class.

f
f

3)

“4)

Which of the following is a correct
position in relation to errors made by
children ?

(1) Native speaker of a language
make errors while non-native
speakers make mistakes or
slips.

(2) If correction is required it
should usually be done
immediately.

(3) - If correction is required it
should usually not be done
immediately.

(4) Immediate correction of errors
result in positive
reinforcement.

‘Learned helplessness’ is a situation
wherein

(1) students feel that they are
going - to fail because of
repeated failures in past.
teachers feel that they are
helpless in helping the learners
learn.

problem related to gifted
children who experience a
feeling of saturation in their
learning.

the learned scholars of society
feel helplessness in the
democratic polity.

2)

3)

4

()

23.

24.

25.

gedl § SHeRRd uEE # A
FA 4 Fefefiag 8 9 S99 91 gaits
THTEeTe ¥ 2
(1) w== o H R 57 e
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O 9T $ 55§ Fued &
FHEEEHA  Ved  qF g
AT |

2

P

(3) THE 9ITF H IGH TR F
fow @3 # 9 megw @ W
Tt e |

(4) TR H R IS 6 SEEhR
FAT |

g gRT AR Al qfedt % TEY A

frfefee & 9 wd Refa s At & 2

(1) @t 9o % g a gfeat
TeAfert a1 g R € |

(2) afc Geiy= St mEvEsEar € 39
a1 qid T ST =niee |

(3) 3fx Gelye St savgsar & ot 3/
g A T8 TR s =@fe |

@ FeF F T "W F

IRUTRGEY  HHRIHE A
e g |

(1) foremelt g7 opg # E P 9 %
B ST ifer STl | AR %ol
B AT E |

oy o7 opra & € 5 A
diea # et #t Femar @ 9
TR E |

TR JiqTTe seal | dat §
oo Wit ¥ gl e @
I FA G | 4

T % fage R At
IA-UF | SRR S
FAE |
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3)
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27,

28.

29.

30.

A\

A Fa

(1) visual impairment

Autism include

(2) hyperactivity
(3) retarded physical growth
(4) inability to relate to others

A motor speech disorder that affects
speech is called

(1) apraxia
(2) aphasia
(3) dysphonia .
(4) word-phobia

Which one of the following is under
the purview of the term disability
under Persons with Disability Act-
1996 ?

(1) Autism

(2) TBcured

(3) Mental retardation
(4) Speech disorders

Learning disabled chilcren generally
show

(1) conceptual disorders

(2) perceptual disorders

‘ (3) habitual disorders

(4) physical disorders

Which one of the following factors
often leads to maladjustment of
children ?

(1) Lack of spiritual maturity
(2) Lack of emotional maturity
(3) Illiterate parents

(4) Impulsive nature

(8

26.

27.

28.

29.

30.

T forer (3iidew) § it §

(1) =g et

(2) afafmareiern

(3) W IR faww

4) TR & g FEYy SEd W/
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I Tifae At o St e ® awiad
AT, HEoma g |
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(2) 3rhRTEr
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(1) HheAIHS o
(2) TCaETOTRHS A

(3) A waHl fawr

(4) VIR fawr

frAfefea & € 7 91 FFE F=a Bt
FEAEISH HT AT A ST & 2

(1) Fmeiers aRaead 1 3HE
) ﬁéwmqﬁqaaﬁmrmra

(3) Frewr st

(4) THTH FR FA H @HE


http://upscfever.com

R

P

f
f
. J )

Candidates have to do questions 31 to 90
EITHER from Part - Il (Mathematics and
Science) OR from Part - III (Social Studies /
Social Science).

afsnferat & gwr 31 @90 ar @t s - 11 (e

g faar @ s - 1 (@fEE EmaT
Tl @A) @ Fv &

PART-II/¥FT-II
MATHEMATICS AND SCIENCE / Tftne & fasm=

31. The sum of the smallest and the

3,2 1227 B ;3enon

9 12 27 49 | 3. 70°20°25° 50" 100
largest of 75 5525 " 50 " 100 1 T T T T A
() 0.84 (h  0.84
() 0.75 2) 0.75
(3) 0.78 (3) 0.78
4y 0.79 4) 0.79
32. If 8210 = 8.21 x 107, then the value 32. TE8210=8.21 x 1078, a9 x H T
of x is T
(h 1 (1 1
2) 2 2 2
3) 3 3) 3
4) 4 4 4
33. A polyhedron has 6 faces and 8 33. ol sgwer & 6 Forw AT 8 YN § |
vertices. The number of its edges is T TEHETF b (BRI Sl G&T &
(hH 10 (1) 10
2 12 @ 12
3 14 3 14
4) 16 @) 16
3. -+ 1)P?-n+27%+@+3)7is 3. n*-(@m+12-(n+2%+@+3)7
equal to ST
(hL O (1) 0
2y 2 Q) 2
3) 4 3) 4
4) 6 4) 6

SPACE FOR ROUGH WORK / 7% &14 % fog e
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36.

7.

38.

~ J

The product of two natural numbers
is 24. The smallest possible sum of
these numbers is

(1) 8

2 9

3) 10

4) 14

If p = 1000 and q = 0.01, then which
of the following gives the largest
value ?

(1) p+q

@) p-q

(3) pq

4) - plq

In a basket, the ratio of the number of
apples to the number of oranges is
1 : 4, the ratio of number of oranges
to the number of lemons is 5 : 2.
Ratio of the number of apples to the
number of lemons is

(1) 5:8

2 1:2

(3) 4:5

4y 5:7

Prime factorisation of three numbers
x,yand z are :

x=2x3x%x5

y =27 x3?

z=2x3x 52,

then their LCM is equal to

(1) 2°x3x5

(2) 2x3x5?

(3) 2°x3%x5

4) 2°x3%*x5?

(10)

3s.

36.

37.

38.

3t T TETel & AR 24 ¥ | T
G o g Sier gt A §

1 8

@ 9

(3) 10

4) 14

R p = 1000 3 q = 0.01 &, & P &
Y FHF T I qIQ TI1 7 7

(1) p+gq
). p-q
(3) pq
(4) plq
e arehe ° Qe S FE Gl
AT | S 1 : 4 ¥, HeRl G
gt B T | oW 5: 2 ¥ | ¥t
Y T Aigall B T ¥ I ¥
(H
(2)
3
(4)

W A = W
~] v DN oo

a=  geEre X,y AT z F Y
'{[U'FI'GEF%

x=22x3x%5

y=2°x3?

z=2x3x52,

a9 37 A.9. (LCM) SR &

(1) 2°x3x5

(2) 2x3x5°

(3) 2°x3%x5

(4) 2°x3%2x5?

SPACE FOR ROUGH WORK /7% &4 & {1 sme
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40.

41.

42.

43.

R

d median
oI tne numoers s, 11, 0, 9, 16 is

(1) 60

2) 64

3) 80

4 90

r e W R

The expression 1 - p* — 2q + ¢° is
factorised as _ ‘

() (p+q-1)g-p-1)

@ (@E+q+DP+q-1)

(3) (p+q+Dp-q+1)

@ (-q-D-q+1)

Which one of the following is true ?

(1) 04=02

(2) Sum of two square numbers is
a square.

(3) Every rational number has its
reciprocal.

@ & =x2 for every rational
number x > 0.

If 800670 = 8 x 10* + 6 x 10° + 7 x 107,
where x, y, z are whole numbers,
then the value of x + y + z is

(35

2) 6

3 8

4 11

Angles of an isosceles triangle can be
(1) 30° 60°, 90°
(2) 70°,70°,50°
(3) 50°,50°, 60°
(4) 54°,72° 54°

39.

40.

41.

42.

43.

P

wEmet 8, 11, 6, 9, 16 & #reg aew
TTeqeh &1 OAGA &

(1) 60

2) 64

3) 80

4 90

F | - p? — 2q + q* HT PAGEA &

(1) (@P+q-D@-p-1)
2) (P+q+DpE+q-1)
3) (P+q+(p-q+1)
4 @-q-1(p-q+1)

fredasr o

1) +04=02

(2) T T FEHSA H ATES TH Gl
g e |

3) ;ﬁﬁﬁu#@mwm
|

(4) @i ofg demet x > 0 & fow

-4
A =

IfE 800670 = 8 x 10+ 6 x 10¥ + 7 x 107
W, X, y, 2P @ E Ax+y+2H
THE

1 5

2) 6

(3) 8

@) 11

ferdlt wafgarg Bt & @ & T §
(1) 30°, 60°, 90°

(2) 700, 70°, 50°

(3) 500, 50°, 60°

(4) 54°,72°, 54°

SPACE FOR ROUGH WORK /7% 1 & fow smie
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45.

46.

f
f -

. - S

lid cube
is 24 cm”. The volume of the cube is
(1) 4 cm®

) 8cm’

3) 24cm’

4) 27cm’

The circumference of the base of a
right cylindrical vessel is 132 ¢cm and
its height is 25 cm. How many litres
of water can it hold ?

(1) 1155

2) 23.12

(3) 34.65

(4) 35.56

In the figure, ACE and BCD are line
segments, the value of y is

A
/4%\
B L)6F D

47.

40
45
50
60

C \3
yO
, E
(D
(2)
3)
4)
The minimum number of tiles each
measuring 6 cm X 4 cm needed to
form a square (without overlapping) is
(H 4
2y 6
(3) 8
4 12

(12)

44.

45.

46.

47.

fodt 3 97 &1 ST g SAwA 24
IWE 1w AT

(1) 498

) 8uw’

(3) 24941

(4) 2793

T A T SRR S & SR i
oify 132 |9 qer S 25 9 ¥
T4 o Tepe et O 3 T € 2
(1) 11.55

(2) 23.12

(3) 34.65
4) 35.56

aFfa °, ACE Ud BCD {@r&Es &, y &
oA,
A

K%\ |
B /)60 D

40
45

~3
yO
E
¢))
(2)
(3) 50

4) 60

TF 1 S & T 6 A x 4 9 & A9
3t ZrEel J BIE TS AT E) ¥

(1) 4

(2) 6

(3) 8

@ 12

SPACE FOR ROUGH WORK / 7% %14 & foe smie
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Following is a problem from NCERT

text book of Class VIII :

“An aquarium is in the form of a
cuboid whose external measures are
80 cm x 30 cm x 40 cm. The base,
side faces and back faces are to be
covered with a coloured paper. Find
the area of the paper needed.

Which cognitive skill of Bloom’s

~ Taxonomy is addressed in this problem ?

(1) Knowledge

(2) Comprehension
(3) Synthesis

(4) Application

For a unit ‘Perimeter and Area’ of
two dimensional shapes, one of the
instructional objective identified by
the teacher is as follows :

“Learner will be able to calculate the

area of triangle as A = %'x b x h and

area of circle as A = nr® and hence
will be able to calculate the area of
composite shapes.”

The above objective refers to

(1) general aim of teaching
Mathematics at Middle School
level.

(2) specific objective indicating
the assessment parameter too.

(3) specific objective with criteria
of acceptable performance.

(4) specific objective to handle the

general error committed by
students in calculating area of
triangle and circle.

a3

48.

49‘

frafafea w9 @HEsaRE @
TS TET Rl VI @ ot TR -
“Teh AT T H w9 § ¢ e
TEY 919 80 ¢cm x 30 cm x 40 cm ¢
IqF qA, IS 91 A BoAd AR q
A FoTH B T BT A FHT &
HITS B & WA BT | FH G T
T ° o= JwaE # few
HHHITS $I9reT I Gaifud ferar mar & 2
(1) = '

(2) W=

(3) Hyeyor

(4) ST

g fomret @t el & T i AR
A% & T f¥rerer /T veE T @i
T SRS 3299 =R €
‘WWW@WA:%xbxh
H WA FWH AN T H TG

THT SR T TSN 6 GIHR SN H
SAmeT ot T T TEHN 1
méaaa'a‘w i FT €

(1) umeafs foeme @)X W R &6
TEH 9 Ry

T % HHGS i gHTar fafere
RV

WHRA I HUES % |
fafore 32w

Fa IR B & Fwer it A
FH & fou food g7 & T
FERY Tl ® 9HEH & o
fafore stva

()
3)
C))

P
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51.

R

f
- Jru
of the

e e = I

reasons in children having fear of
failure in Mathematics is ‘Design of
Test’. Design of Test here refers to

asked

(1) number of questions
from each Unit

(2) typology of questions like
multiple  choice  questions,
short-answer and long answer
questions

(3) type of questions testing

knowledge
memory

and procedural

(4) marks allotted to each unit of
the Mathematics syllabus

In algebra class, students of Class

VII are observed committing the
following type of errors oftenly :

Typel: 2x-1lisequalto x
Type 2 : Value of 2x when x=5is 25
Type 3 : (x+y)2=x2+y2

The problem of students in this case
can be understood better by
understanding

(1) Piaget’s notion of assimilation
and accommodation

(2) Bloom’s Taxonomy
(3) Gestalt Psychology

(4) Behaviourism

(14)

50.

51.

NCF 2005 % 9, fommet & nfora #
TRITT E1 % BT T Uk HROT UL S
T ot & 1 gE wheor @ weEAr
_ H AR A ATy |

(1) WIFE I P T H g

(2) wgowedt W, TR, 39 I

(3) A &R wEau g @t Siee &
fore et & v

4) ThE TeTET W W TR @
AT TF

et # TF Fww F w0 VI F
fernedt g1 T w Q H T Al €

FER1: 2x— 1, x FTWERE

YEL2: W x=35 ¢ 99 2x H 99 25
T

TER3: (x+y)P=x*+y?

et =t T e =t IS T TR

% fom =1 9 9 fem & e smavEs

g2

(1) = = swoEEE R
JHEN

(2) =M aEFmE
(3) TRRE H THifaTH
4) SHFREAR
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S52. Betore starting the unit on ‘numbers’
teacher draws the following ‘Concept
map’ on the blackboard :

' Natural
[ Numbers
Whole
Tvoe of Numbers
Numbers H y .9 u
Numbers
| Integers
| | Rational
Numbers
Operations
on Numbers
I i ] |
.. Subtrac- Multi- 5 g
Addition tion plication Division
Properties Properties
®Closed ®Closed
®Commutative ®Commutative
®Associative ®Associative

Here the teacher is trying to

(D
2
3)

4

create interest of the students in
this unit.

give overview of all concepts
to be covered in the unit.

warn students to be careful and
attentive in the class otherwise
they will not be able to
understand meaning of all
terms.

give hint to the student$ that
questions in the examination
can be asked from the subunits
shown in diagram.

(15)

P
52, ‘WERN ¥ UG W YE FA ¥ [
e =t 9% w Frefeafea deeon
AT @ & -
- FEE
Tt
T
T wver e
| |- ofem
weEmd
&AW
o
‘"T“m
I I I —]
i ZEHAT o ot
| [
3 : .‘ :
® T o T
o shufafmyg o Hufaf~ag
® TEad ® gE=d
EeRNED F UG T ETE |

(1) T R o o S S

(2)

A3)

4

e § THeT W SeeTTe &
faemmaeteT H= #1

ot & w7 ¥ Wae 3
WY @ F & gEa 1A
Iy 9% A9g F W 9 &
Feyer T and
forenferat =t Foher &1 fop armepfa o
fears T8 ot swEdl 7 @ gen |
TYT U T T &

SPACE FOR ROUGH WORK /7% &1 & foq wrie
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54.

55.
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/el

“Two numbers are in the ratio 5 : 3.

If they differ by 18, what are the

numbers ?” This question is framed

to test a student’s

(1) conceptual understanding

(2) procedural fluency

(3) computational ability

(4) verbal ability and procedural
fluency

f
f

Which of the following problem are
reflecting in nature ?
(1) Find the solutionof 2x+ 3 =7
(2) Write a real life situation for
which 2x + 3y = 6 is a solution
(3) Perimeter of a rectangle is 64
metres. Its length is 4 m. more
than the breadth. Find the
perimeter.
Solve the equation 4x + 3 = ¥x - 5).
Explain your solution process.

This is a problem from NCERT text

book of Mathematics :

“In a laboratory, the count of bacteria

in a certain experiment was increasing

at the rate of 2.5% per hour. Find the

bacteria at the end of 2 hours if the

count was initially 5,06,000.”

With the help of this problem teacher

can inculcate the following value :

(1) Bacteria always grows and
does not decay.

(2) Mathematics is required in

3

C))

every sphere of life.

Preventive measures shall be
taken immediately to prevent
the spread of epidemics
because the bacterias grow at
very fast rate.

To conduct experiment in
Biology Lab the knowledge of
Mathematics is essential.

“)

(16)

53.

5.

- 85,

2} el & IR 5 : 3 ¥, TR T
18 T ST & A TEATE AT [ T W
foenfort & f | @ T %1 T
F & fog A & 0

(1) WA e

(2) wrdfafy wt gew

(3) UiEpeHIHS &1

@) m g e Wy W

ﬁmﬁ@aﬁqaﬁmmﬁw
FE?
(N
(2)

3

2x + 3 =7 H I A U |
TF drefas SEa-ea ot
o ST 2x + 3y =6 ¢ |
i et afs
~ URHAT 64 HieX ¥ 3R IqS =T
wﬁmﬁuﬁaM%W
4 4x+3 9(x 5) & B |
)’ g‘ﬂﬁﬂ' [ guEmat |
aﬁnﬁmaﬁ NCERTWWEF?Y
FAEE | . ‘ »
‘e WENTETeT H, T WENT § SERiian
= GBI 2.5% T HE H W @ 9 @
T | R IRV H B HE
%%6000%3%23%3733%%11@1@1
:)”
T gae $ meg Q e A @
§ Fi-1 9e9 fa@r = €2
(1) IR eovn w5 &, F= TH

()
3)

T g | ‘
Ao & W &7 ° o &t
SETEHA Bt & |
it SR ;
¢ zafe SRt =
%w%mwm
:
Stafasm= vanmenenr °§ uEn e

4
@ ?Wwﬁmwwﬁmaﬁmﬁ
|
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56. Mrs. Khanna asked the students to
fill in the following vocabulary card
while teaching fractions in Class VI :

Term Definition Term Definition
Fraction
Example Non Example Example Non Example
L. 3 6 116 14 17
2477 3" 2% 5
Term Definition Term Definition
IMixed Fraction Improper
Fraction
Example Non Example Example Non Example
31 sl 3 6 110 _50
4’77 4° 17 20 15

Through this activity, teacher may
not like to

(1) assess the students’ concept at
formative stage, so that timely

remedial action can be planned.

assess the students at the end of
the term, so that students’ can
be considered for promotion to
next class.

(3) introduce the topic of fractions
to Class VI by revising the
previous concepts as well to
the students’

understanding

know
to plan her
lesson.

(4) give as home assignment to

strengthen their concepts.

17)

P
56. AT VI F = wer W sfmfa w1
a9 faenfoat & f vrmaett e @t
7 % e weat €
weTae oftrar v I
oy
ST | e e Ex ]
TR afev = g
Wit foe frer
TR | S TaE e
g fopar & g ffirenr et AT et
(1) s & W et &t
THTT FT A HAT il
T W IUEREES  UEAT @
SO |
(2) W% g 9 et @ smwe
AT iR FoeTTet = 3yt R |
o= {6 ST 9% |
3) = & fawg = =0 VI A E
FH | O [EEE H AR
3R feremet =6t wIE @t AT SR
I FHSH Bt A |
(4) ST HehouHl B TS B F

o (e 3 1
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Geo-Board is an esséntial tool for

teaching Geometry in middle classes

as

(1)

2)

3)

4

objects carried to classes

always arouse curiosity in
students about the concepts

taken in class.

it enhances spatial ability as

well hands on experience help

them to understand the
properties of geometric
shapes.

it is instruction of school

authorities to use teaching aids

in the class.

it keeps the class in control
as students get busy themselves

with geo-board.

18)

57.

areafies el § W@ 9o % few

St 1 (Geo-Board) %! 4T SEvghar

T2

6y

2)

3

C))

s e ot el e
H A |
T e R Fw d e
FE F I T, TGO
% HRI F frdwa H wHEH
o T # |

feor it oW wW oW
foremera arfuemivant 1 s |

forenedt sit-ag & Tw =@ @
s €, R e e | @
T |
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58. The sum of two integers is—4 and 58. G YU W AT - 4 AR ITH OAEA
their product is -21. The greater 1% mﬁww%
integer is
() =7
(H =7
) —k
2) -1
3) 3
3] 3 :
4 7
(4 7
59. Twelve million added to twelve 59. aNE fHfeEA ® 9RE TR § et |
thousand is T BIelT &

LSS (2) 12120000

s}
LA (3) 120120000

(4) 120012000 (4) 120012000 °

60. 326+‘13—0+%006quals 60. '126+1—365+T(')'966W%
(1) 0.937 | (1) 0.937
(2) 0.739 (2) 0.739
(3) 0.0739 (3) 0.0739
(4) 0.9037 (4) 0.9037

SPACE FOR ROUGH WORK / ¥& &/ & T srme
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61.

62.

63.

65.

Frever,”

The salivary amylase is lacking in

the saliva of a person. Which of the

following events in the mouth cavity

of that person will be affected ?

(1) Absorption of vitamins.

(2) Conversion of fats into fatty
acids and glycerol.

(3) Conversion of starch into
sugars.

(4) Conversion of proteins into
amino acids.

" Select from the following a set of

ruminants :

(1) cow, deer, buffaloes
(2) cow, deer, dog

(3) buffaloes, deer, tiger
(4) deer, buffaloes, cat

Select the correct statements about

autotrophs.

(A) They constitute the first trophic
level in every food chain.

(B) They convert CO, and H,0

into carbohydrates in
absence of sunlight.

They store carbohydrates in the
form of sugars.

They synthesise carbohydrates
from CO, and H,O in the

presence of chlorophyll and
sunlight.

(1)  (A),(C)and (D)

(2) (A),(B)and (C)

(3) (A)and (D)

(4) (C)and (D)

If you have to change a feeble sound

to a loud sound, the required change

is to increase its

(1) wavelength

(2) velocity

(3) frequency

(4) amplitude

the
©)
(D)

A rectangular box is kept on a table

with its different faces touching the

table. In different cases the box exerts

(1) same thrust and same pressure.

(2) different thrust but same
pressure.

(3) different thrust and deferent
pressure.

(4) same thrust
pressure.

but dlfferent

(20)
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62.

63.

64.

65.
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|
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= G =T

(1) rnzrfmﬁv

2 T, &, T

(3) 99, T, s
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waifat % w@e | Wt HuAl B g :
(A) amwm%%ﬁw
o arpfa

TS CO, T
aéoﬁma’rm%z}ﬁuﬁ'aﬁraw

&mﬁ%wﬁm@aﬁ

(B)

©)

D)
4 CO, mHoﬁm@aﬁ
R

(H (A, (C)a(D)

2 A),B)T©)

(3) (A)FD)

4 (©a(D)

afy ey ferdlt &ftor i @t et wfa o

gfafae %A1 e € at 399 faw et

ferad i et antt 2

(1) aoRe

(2) an

(3) omfa

4) I |

Tt TR ST W A % 7S W
o fafir worepl W AT T @

s € | el wewel # g' e

TR A % TS W SN e &

(1) F9F YOI 91 99

(2) fofv= voig o woM T

(3) faf= woiig e fafi= g

4) T oI e faf= g
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66.

67.

68.

69.

70.

\\

/el

Select the true statements about

biodiversity. '

(A) Itis maximum in a forest.

(B) It refers to only the flora of a
given area.

(C) It refers to the various species

of flora and fauna present in an

area.

It refers to the total number of

individuals of a particular

species living in an area.

(1) (A)and (B)

(2) (B)and(C)

(3) (C)and (D)

(4) (A)and (C)

Select a compound which does not
have carbon.

(1) Methane

(2) Ethanoic acid

(3) Sulphuric acid

(4) Glucose

(D)

Select from the following a group of

petrochemicals, i.e., the products
obtained from petroleum and natural
gas.

(1) Diesel, petrol, manures

(2) Lubricating oil, paraffin wax,
rayon

(3) Nylon, acrylic, caustic soda

(4) Detergents, polyester, bitumen

The most abundant element found in
the earth’s crust is

(1) Carbon

(2) Nitrogen

(3) Oxygen

(4) Silicon

Extraction of copper and iron from
their -ores involves mainly following
steps :

(A) Reduction to metal

(B) Enrichment

(C) Refinement

(D) Roasting/Calcination

The proper sequence of these steps is
(1) (B),(A), (D), (C)

2) B), D), (A), ()

(3) (A),(B), (D), (©)

4) (A), (D), (®B),(C)

21

- 66.

67.

68.

69.

70.

ey fafereren & weet A Wt Fo 9T

(A) TEFa H Afuwag e € |

(B) T fd@t Rt 7T &7 & Fao
YRTT T Joo1 el ¢ |

(C) =E fodt g 7w &7 & IRuE

Tt wforera =t fafa=T e #

IoAE HAT € |

7g fedt &9 § W€ I Tl

&A1 %1 Soi@ FA € |

(1) (AT (@B)

2) BFE)

3) (©3 D)

4 A)F©G)

frafefas 4 @ =% 9 g s

HTET TET T 7

(1) ==

(2) THIEH T

(3) UEHER® I

(4) TS

frefafea & @ @ 9ge =t g ed

ke 19 @ WG BN 9 SAR

gimfea € |

(1) I, i, @

(2) s ad, T O, [WE

(3) =i, skl e arer :

) ﬁgﬁqmﬁw (Feewiem), difeey,

qoiet § wad ity yeRar # urEr
AT el &

(1) ==

(2) T

(3) 3t

(4) fafess

HWR (dle) I I H ITH
R @ Fsfia w @ ahea & A
few ez =T A €

(A) U ® 39T

(B) WgiEwH

(C) ufeswior

(D) W/

& =Rl 1 SFaa wH E
(1) (B),(A), (D), (C)
(2) (B), (D), (A), (O
(3) (A), (B), (D), (C)
4 (A), (D), (B), (O

D)
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66.

67.

68.

69.

70.

24

~ J
Select the true statements about
biodiversity. '
(A) Itis maximum in a forest.
(B) It refers to only the flora of a

given area.
(C) It refers to the various species
of flora and fauna present in an
area.
It refers to the total number of
individuals of a particular
species living in an area.
(1) (A)and (B)
(2) (B)and(C)
(3) (C)and (D)
4) (A)and (C)

Select a compound which does not
have carbon.

(1) Methane

(2) Ethanoic acid

(3) Sulphuric acid

(4) Glucose

(D)

Select from the following a group of

petrochemicals, i.e., the products
obtained from petroleum and natural
gas.

(1) Diesel, petrol, manures

(2) Lubricating oil, paraffin wax,
rayon

(3) Nylon, acrylic, caustic soda

(4) Detergents, polyester, bitumen

The most abundant element found in
the earth’s crust is

(1) Carbon

(2) Nitrogen

(3) Oxygen

(4) Silicon

Extraction of copper and iron from
their -ores involves mainly following
steps :

(A) Reduction to metal

(B) Enrichment

(C) Refinement

(D) Roasting/Calcination

The proper sequence of these steps is
(1) (B), (A), (D), (C)

(2) (B), D), (A), (©)

(3) (@A), (B), D), ©)

4) (A), (D), (B), (C)

21)

- 66.

67.

68.

69.

70.

e fafereren & et # Wt FuT g

(A) T T H Afywag e € |

(B) T fd@t Rt 7T &7 ¥ Fao
YRGE T Jooid el ¢ |

(C) ¥e foat KT U & % gRue

aer wforera =) fafa=y SeieT

IoTE HAT € |

7g fedt & 9 W€ I Tl

&1 %1 Soi@ FA € |

(1) (AT [B)

2) BT

3) (©3 D)

4) AFI©G)

frafefas & @ =2 9 g s

HTET TET ¥ ?

(1) =\

(2) THIEH T

(3) UEHRN® I

4) T

frefafes & @ @@ 9ge =t g ad

WS 19 ¥ WA BN 9 SAR

gimfea € |

(1) N, i, @

(2) &S ad, Tfe T, [WE

(3) =i, Uitk s drer :

(4) ﬁmggfw (feetoi=m), difemeeey,

qoiet & wad s yeRar 7 urEr
e T €

(1) &=

(2) T

(3) 3t

(4) fafess

HW (@AreT) IR I H ITH
R @ fsfia w @t 7 A
e o =RoT et €

(A) U ® 39T

(B) WgiEHI

(C) RSO

D)

(D) st/

Ao SaFAT
(1) (B). (A), (D), (C)
2 (B), (D), (A), ()
3) (A),(B), (D), ()
4 (A), D), B),(C)
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71.

72.

73.

74.

f
- J‘n

The revolution
fisheries is

(1) Blue revolution
(2) Green revolution

associated with

(3) Yellow revolution
(4) White revolution

Select the set of activities which
replenish or enrich the soil with
nutrients.

(1) Adding manure, adding
fertilizers, irrigation. '
(2) Adding fertilizers, adding

manures, Crop rotation.

(3) - Irrigation, crop rotation, adding
manures.

(4) Crop rotation, adding manure,
deep ploughing.

Select from the following a set of

Rabi crops only : '

(1) Wheat, cotton, gram, mustard

(2) Wheat, pea,
groundnut

soyabean,

(3) Wheat, pea, gram, mustard

(4) Mustard,
groundnut

corn, gram,

The aim of science is to enable

children to

(1) ask and
questions.

(2) know and understand the life
processes of living things.

(3) plan and carry out scientific

answer scientific

investigations . evaluate
evidence and present
conclusions clearly and
accurately.

(4) enquire and investigate to
stimulate creative thoughts.

(22)

71.

72,

73.

74.

T (weeh sered § gy ¥ fow g
FT

(1) et sifa

(2) wRa

(3) dig wifa

(4) o shifcr

Tl % 39 TR H 9T St
T H vl S G st wgtE HRd
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(1) W@ A1, 383 g, g

Q) IHRE TEE, TE I, FEA-
T

(3) o, wee-aw, @) e

(4) TE THI, W ST, T AT
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(2) W T, WIEE, el
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(4) TG, TR, T, G

T s REE, s A &

g S |
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e

(2) Tl WS @ Stew uhear s
AR 3 T |
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F A A T W qq
g w0 & ey
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75.

76.

77.

78.

ks

/el

National Curriculum Framework-

2005 stresses an environment for the

science classroom which is

(1) conceptualising science as a
means of discovering theories,
laws and principles.

f
f

(2) conducive for constructivist
learning where learners engage
in experiential tasks.

(3) as an arrangement of teaching
strategies.

(4) like a treasure hunt to guess
what is there in teacher’s mind.

Practical work is an essential

component of science teaching and

learning —

(1) for the aim of developing
scientific knowledge.

(2) for differentiating research and
laboratory work.

(3) as communication not as
discovery.

(4) to establish link between both
the domains of knowledge i.e.,
objects and observable
phenomena.

Pedagogical approaches associated
with computer based technologies in
supporting learning of science at
secondary level are adapted to

(1) cognitive resources

(2) psychomotor resources

(3) cognitive and  structuring
resources

(4) 'ICT and cognitive resources

When the majority of students in a
science class are well below grade
level in reading, the teacher should

(1) read to the class from the text
book.
(2) plan as many hands on
activities as possible.
(3) show visuals related to topic.
(4) simplify her language for

delivering lectures.

@3

75.

76.

77.

78.

UL T Y FWET 2005 FR0 fawE

¥ s R W ae R & Ry

(1) fagial, foumt ok ot =t @&
FH G % w0 0 fage w5
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(2) fpioert afrm & oo swgE
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FHE | e € )
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&1 =fgT |
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sfrerd aea ¥
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79.

80.

81.

82.

83.

R4

Frever-s

"While teaching a lesson, the teacher

should ask the maximum number of
questions in the following phase :

(1) Introduction phase
(2) Revision phase
(3) Growth phase

(4) Completion phase

Eight-millimeter loops are
characterized by all of the following
except that they

(1) are really short motion pictures
(2) can be stopped to view a single

frame

(3) are best used for full class
instruction

(4) can be easily operated by
pupils

The importance of diagnostic and

remedial teaching is the primary

responsibility of the teacher. This

type of teaching involves :

(1) Diagnosis of specific difficulty
of the student.

(2) Providing lot of material to read.

(3) Providing a lot of opportunity
for drill.
(4) Correcting their errors instantly.

One of the limitations of problem

based learning for science teachers in

practical class is

(1) that students do not know what
might be important for them to
learn.

(2) prior knowledge of
practical/theory topic might not
be known to students. .

(3) teacher may not be able to
cover syllabus properly.

(4) that students may not be able to
handle the solutions/readings

properly.
Out of two approaches of evaluation
that are in vogue today which of the

approach is focussing on the
performance of teacher

(1) -The product approach
(2) The process approach

(3) The perfect approach

(4) The preliminary approach

(24)

79.

80.

81.

82.

83.
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84.

85.

86.

87.

3

R

Ver”

You have a strong bar magnet made
of steel. If you cut this magnet in
three identical parts, then you get
(1) one north pole, one south pole
"and one complete magnet
having two poles.

one north pole, one south pole
and one steel bar.

three identical magnets.

two identical magnets and a
steel bar.

(2)

(3)
(4)

A car starts from a city A at 9.15 AM
and reaches the city B at 11.45 AM.
If the distance between the two cities
is 180 kilometres, the average speed
of the car is

(1) 72KM/H

(2) 20 MVsec.

(3) 20 m/s

(4) 72 km/hr

Study the following statements about
flowers :

(A) They are always bisexual.

(B) They are the sexual
reproductive organs.

They are produced in all group
of plants.

After fertilization they give rise
to fruits.

The true statements are

(1) (A)and (C)

(2) (A)and (D)

(3) (B)and (C)

(4) (B)and (D)

Select from the following the correct
path of urine in the human body :

(1) Kidney — Ureter — Urinary
bladder — Urethra

Kidney — Urinary bladder —
Ureter — Urethra

Kidney — Urinary bladder —
Urethra — Ureter

Kidney — Urethra — Urinary
bladder — Ureter

©

(D)

(2)

4)

(25
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85.

86.
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HUF TG LA H T B TG T
IEF ¢ | A% Y TW TH H AN
TEEE a1 A Y U Bt
(1) T IR yd, Tk SR Yo 3R Th
T At wieed gl g

T IR YF, T S0 4a 3R T
TAH BT

A T TEE

T FEEH T T TH @l @
oET

FE FR fFE T A | 9.15 AM W
T # fFE o= T B H 11.45
AM W Tget & | 3fE 31 el & o
H 0 180 freArter €, @t FR # siwd
T T
(1)

2

2

3)
4)

72 KM/H

20 M/sec.
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88.

89.

90.

Select the statement that correctly

describes the arteries.

(1) They have thin walls with
valves inside, blood flows,
under low pressure and carries

- blood away from the heart.

(2) They have thick elastic walls
without valves inside, blood
flows under high pressure and
carries blood away from the
heart to various parts of the
body.

(3) They have thick walls, blood
flows under low pressure,
carries the blood from heart to

* different organs of the body.

(4) They have thick elastic walls _

with valves inside, blood flows
under high pressure, collects
blood from different organs
and brings it back to the heart.

Select the correct sequence of
anaerobic reactions in yeast.

(1) Glucose M—)Pymvate

M1tochondr1a; Ethanol + CO,
Cytoplasm
—_—

(2) Glucose
Cytoplasm
B

Pyruvate

Ethanol + CO2

(3) Glucose M

Cytoplasm

Pyruvate

Lactic acid
Cytoplasm

_y_g____) Pyruvate

» Lactic acid

(4) Glucose
Mitochondria

The role of villi in the intestine is to

(1) help in the conversion of starch
into simple sugars.

(2) help in transporting the
undigested and unabsorbed
food from small intestine to
large intestine.

(3) absorb water and some salts
from the undigested food.

(4) increase the surface area for .

absorption of digested food.

(26)
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27) ‘ P

Candidates have to do questions 31 to 90
EITHER from Part - II (Mathematics
and Science) OR from Part - III (Social
Studies / Social Science).

geianteral &t wew 31 & 90 ar a wrr - 11

(ot & faar ar 9 - I (@&
ST/ Ao ) R wAE

31.

PART - III / 97T - 11
SOCIAL STUDIES / SOCIAL SCIENCE (|THI{We e+ / QAT 1)

The method to slow down the flow of
water and soil erosion in agriculture
land on hilly slopes is known as

(1) Intercropping

(2) Contour ploughing

(3) Shifting farming

(4) Mulching

32. Imagine that you are travelling with

33.

your parents about 4000 years ago
from Lothal to Mohanjodaro. Which
of the following things you would
see while you visit there ?

(1) Storehouse at dockyard

(2) Caves and rock shelters

(3) Narmada valley

(4) Great Stupa

What refers to a special identification
or name that is associated with a
product ?

(1) Lifestyle (2) Market
(3) Consumer (4) Brand

34. The traditional songs of Bhakti in

3s.

Mabharashtra were devoted to which
of the following deity ?

(1) Krishna

(2) Jagannatha

(3) Vitthala

(4) Shiva

Name the country where the first
Hydro-electricity plant was
established.

(1) Norway

(2) Brazil

(3) United States of America

(4) Russia

31. TETE g W P 9T d ger uved
AR A VETE H AT HH F 39T B
ST ST &

(1) S OFEATH
(2) THERE™ TS
(3) R FN

(4) =E-TE @ &

32, woUT HWT fF AT I wEfuar ¥
WY 3 § T 4000 Y ool gt §
AlRASEE S a1 @ & | M R
fr=fofea & @ o= @ i 3@t & 2
(1) S<TE W TSR TE
(2) TEE R TG FEIR
(3) T U
(4) oo =@

33. frdt sa @ waifya fafe weam
19T AT FT R
(1) e SR %1 T
(2) TER
(3) Ui
(4) BN FUS)
34, wewrg # Wi % aREReE A (e
) FAGT & |
(1) =om
(2) ST
(3) fag=
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36.

31.

38.

39.

R4

< i
How many members can be
nominated by the President of India
to Rajya Sabha ?

1 2

2) 12

(3) 16

4 21

the
was

Subsidiary  Alliance during

Colonial period in India

introduced by

(1) Lord Minto

(2) Lord William
(3) Lord Comwallis
(4) Lord Wellesley

Metamorphic rocks get formed when
(1) Magma cools and becomes
solid.

(2) Rock fragments roil down, get
compressed and hardened.

(3) Igneous and sedimentary rocks
are exposed to great heat and
pressure.

(4) Remains of plants and animals
get deposited as layers on the

rocks.

The earth has been divided into how
many time zones ?

(1) 26
2) 24
(3) 36
@ 12

(28)

36.

37,

38.

39.

R & LUt FRT ToqqeT % g foham
I A 6T o Hhet 2 '
(1 2
2 12
(3) ‘16
4 21

IRd & siufafie e §  wwEs
TesY 1 W fema

(1) e fve A

() wits fafemm =

(3) WS HHaTT A

(4) T AT A

FrIaRe St B A A ¥

(1) FH F IR AR AT ER W

VT FON F TEH W, TAH IR
FEATEA W |

MY R EdEr e @ I
9 3R T § A S 3 W |
Tt @ 9t § dt A SHER) %
TN F FTH ER W |

)
3)

4

et 1 et e 8 4 e T &
(1) 26
2) 24
3) 36
4) 12'
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40.

41.

42,

43.

=
=

h34

/el

Which city in India was designed by

. the two famous architects, namely

Edward Lutyens and Herbert Baker ?
(1) Calcutta (Kolkata)

(2) Madras (Chennai)

(3) Bombay (Mumbai)

(4) New Delhi

In the year 1527 Babur defeated
(1) Sher Shah Suri

(2) Ibrahim Lodi

(3)
“4)

Rana Sanga

Rana Partap

Weathering implies

(1) Wearing away of the landscape

(2) Breaking up of the rock on the
earth’s surface

(3) Process of erosion and
deposition together

(4) Weather cycles

On 21* March and 23™ September

(1) The direct rays of the Sun fall

on the equator.

(2) The slanting rays fall on the

equator.

Only the North poles is tilted
towards the Sun.

3

Only the South pole is tilted
towards the Sun.

C)]

29)

40.

41.

42,

43.

TeEs dfedd AR e A AWE
wag aRgERl 3 9Ra | fee W @l
T (Fese) AR &t 2

(1) HeTeaT (ST

(2) W (A=)

3) =R ()

@) % et

T 1527 W TR gRT FHR-F0=T T2
(1) e g
(2) R
(3) omHW

(4) oW AT

aoeg @ s €
(D
2
3)

A T H SIS

SiAl T geEt Y Ta§ W A
e AR faduor & ufear @
-9 AT

(4) wEHTH

21 Are 3R 23 famaR

fogae gu W gd # o W
TEdt § |

fored g9 W gE # fot et
T € |

FaeT IW YT GE F A FH
T E |

(D

)

3)

Fael ST yF G4 B IR I
e |

@)
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44.

45.

46.

47.

f e
- J‘n
Who was the famous grammarian of
the Upanishadi Period in India ?
(1) Panini
(2) Aryabatta
(3) Kautilya
(4) Gargi
ruler of the

The most famous

Kushana Dynasty was
(1) Samudragupta
(2) Ajaatshattru

(3) Kanishka

(4) Satyabama

A movement that began in USA in
1950’s for demanding equal rights

and to put an end to racial
discrimination was

(1) Apartheid

(2) American National Movement
(3) Civil Disobedience Movement

(4) Civil Rights Movement

Highly indented coastline is found

along the coast of

(1) Atlantic Ocean
@)
(3) Indian Ocean

Pacific Ocean

(4) Arctic Ocean

(30)

44.

45.

46.

47.

gya § oty weE  foe
ZTHUTET BT & 2

(1) wifoe
(2) W
(3) wifesw
(4) it

FHUIUT AT T T AT I o1
(1) IS
(2) ¥
(3) =

(4) T

1950 & g9 W g T99 STIH H
TR AHER B AT T T AT F
U % foTw wReT fean oo an

(1) "

(2) ST TG AT
(3) wfoa raw e
(4) MR UHR g

FAE F-F Te@l 69 9 F g
aTE ST € 2

(1) FEHAMEH FEFR
(2) W HETEIR
(3) fo e
(4) IHEH FEEFR
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48.

49.

50.

51.

f
f

R

ver-s

In which Age the Earth experienced
environmental change ?

(1) Paleolithic Age
(2) Neolithic Age

(3) Mesolithic Age
(4) Microlithic Age

Indigo Commission set up by the
British Government
(1

recommended a decrease in the
revenue for the Indigo farmers.

(2) found farmers guilty of
attacking on planters. |

(3) found planters guilty of using
coercive means to compel
farmers.

(4) abolished all Indigo contracts

signed between farmers &
planters.

Which of the following is the first
level of democratic government in
India ?

(1) State Government
(2) Central Government
(3) Panchayat

(4) Federal Government

A mangrove variety of forest implies

(1)

Trees that resemble mango

trees.

(2) Trees that can survive in saline
water.

(3) Trees that grow very tall.

Trees with thick leaves.

4)

@31)

48.

49.

50.

51,

P

forw g o gt 7 wateroly RedT gw 2

1)
(2
3)
@

XIS
FaaTSToT M
HEUTSIOT T

TEATHTOT i7

fafes @R g/ 7 T e amEm A
(1) =it Rramt & foe orme a3 o @t
=t fawfer =t |
framt @t Aier Il W SATHHOT
T B R fEEr |
AT IOEE @ fREET W SR
RN ¥ AT ST S 9
foramt & et & e 3T 3
2 ar T Far iR

)

3)

C))

wra § frefefan § @ wm W) oA
AT e A | & 2

(1
()
3)
4)

T THR
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52,

53,

54.

58.

56.

57.

hed

Frevers

Grasslands found in the mid-latitudes
with short grasses are known as

(1) Temperate grasslands
(2) Tropical grassiands
(3) Tundra vegetation
(4) Savannah grasslands

In which part of the Hindu Temples,
the image of the main deity is placed ?
(1) Shikhara

(2) Mandapa

(3) Natyagruha

(4) Garbhagruha

In early Medieval period, the land
gifted to the temple was called

(1) Devadana

(2) Bhumidan

(3) Sabha

(4) Shalabhoga

The Harappan Civilization was
developed on the banks of the river

(1) Satlyj
(2) Jhelum
(3) Ganga
(4) Indus

Wher€ is in the Africa the slash and
burn agriculture practised ?

(1) Rainforests

(2) Deciduous forests

(3) Hot deserts

(4) Delta regions

The policy which ensures the
availability of foodgrains to the
common people at affordable price is
known as

(1) Food security

(2) Land of plenty

(3) ‘Self sufficiency

(4) Agricultural development

(32)

D2

53.

54.

55.

56.

57.
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(1) ST o

(2) SUTHCEHY TIERT
(3) oY e
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4 M
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(4) ST

e Il &1 faew fFg =/ % R
g 2

(1) e

(2) |

(3) Tm

4) oy
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T
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58.

-

§0,

60.

(D

3)

e

/er-

Which of the following two States

f
f

use most of the water of Cauvery

(Kaveri) river ?

(1) Keralaand Tamil Nadu

(2) Karnataka and Tamil Nadu

Tamil Nadu and Andhra

Pradesh

3)

(4) Karnataka and Andhra Pradesh

After the death of Tipu Sultan in late
seventeenth century, Mysore was
ruling

placed under the former

dynasty of
(1) The Marathas
(2) The Wodeyars
(3) The Sindhias

(4) The Nizam of Hyderabad

The ‘Chahar Bagh’ were constructed

by which of the following dynasty ?
The Mughals

(2) The Tughlags
The Khiljis

(4) The Lodis

(33)

58.

59.

60.

wﬁiﬁ%%aaana&mraﬁh
e d d PR I AT T E?
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61.

62.

63.

R

Frever,”

Dharavi in Mumbai is famous as
(1) Film making place
0y il tiss buliding

(3) World’s largest slums
(4) House of

Millionaire’ hero

‘Slumdog

Which of the following crops can be
grown on sandy soils and needs low
and high

temperature ?

rainfall to moderate

(1) Jute

(2) Cotton
(3) Coffee
(4) Millet

Rivers constitute percentage

of fresh water.
(1) 0.0019
(2) 0.0001
(3) 0.001
(4) 0.009

While teaching ‘Regional Inequality’
which of the following would be the

best suited method ?

(1) Lecture method

(2) Field trip method

(3) Discussion method
(4) Observation method

(34)

61.

62.

. 63.

Teerg o uRTe e &
(1) Tores fRator wre

(2) wg-ufSen Ra

(3) Fovar ) TR wgl gl s

(4) e fefae ¥ e @ |
ory

frfeafaa & @ @9 @ voa % 57
wwaﬁam@mmﬁ‘
I ST et & 2

(1) uweEd

(2) =UH

(3) I

4 fme

frogee |
(1) 0.0019
(2) 0.0001
(3) 0.001

(4) 0.009

&g J|EEaT g §C fefarEa |
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(1) == g
(2) & v ugla
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65.

66.

67.

~FEVET~

While teaching Geography

(1) Students are taught to
about all the
important places of world with

remember

the help of mnemonics.

(2) Only local geography should
be taught.

(3) Processes leading to events
should be analyzed in the light
of reason and child’s own
experience.

(4) Distinction between natural
sciences and social sciences
should be highlighted.

Which of the following would be
best suited to enable children of
Class-VIII to express their creativity ?

(1) Collection of Coins

(2) Preparation of Charts

(3) Preparation of Scrapbooks
(4) Reading Newspapers

To teach “working of the water
which of the
following methods would be best

treatment plant”,

suited ?

(1) Discuss importance of water
for human beings.

(2) Take students on a field visit to
treatment plant.

(3) Assign a project on this topic to
students.

(4) Arrange delivery of a lecture
by an expert on this topic.

(35)

65.

66.

67.
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68. While preparing a lesson plan on the

69.

70.

topic ‘Gender Equality in India’ what

will be your first step ?

(1) List the disadvantages of
Gender disparity

(2) Frame objectives

(3) Prepare the list of expected
outcomes

(4) Think about .the plight of

eunuchs (transgenders)

Remedial teaching can be done for

1)

any student not responding to

usual class room methods
)
3)
4)

children from poor families
children from rural background
disabled children

The purpose of the ‘Micro-teaching’ is
ey

To -analyse the performance of

trainee teacher and suggest

feedback.

(2) Teaching lessons in microparts
for better understanding.

(3) Micro manage student’s
behaviour.

(4) Teaching by using micro-phone

for the benefit of deaf students.

(36)

68.

69.

70.
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71.

72.

73.

'
~ J

Which one of the following can be
used suitably to find out the relative
position of a student in a group ?

¢y
¢))
3
C))

Grading
Percentage score
Percentile score

Composite score

Which one of the following is most
suitable about reflection of students
thinking ?

(1) Students should not reflect on
routine class work otherwise it
will delay transaction of
curriculum.

Students should not reflect on

the competency of their teacher.

(2)
(3) Peer tutors should substitute
teachers frequently as it helps
co-learners to better understand
concepts. '
An environment of mutual trust
and context of reflection must
be created by the teacher.

4

The case study approach exclusively
focus on

(1)
(2)

avoiding definitions.

making children learn through
their own experiences.
preparing grounds to enable
students to pursue law in their
higher studies which involves

3

case studies.

(4) encouraging fixed response

tendency in students.

@7

71,

72,

73.
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76.

il

Which one of the following is not a
function of remedial teaching in
social sciences ?

(1)

Enlisting the types of errors

made by students.
(2)
3)

Preventing errors in learning.

Assisting the weak students
after school hours.

(4) Ensuring that students learn
things by heart and practice a

lot.

A test can not serve the purpose of
(1)

ascertaining the effectiveness

of teaching-learning.

(2) assessing the progress of
learning.
(3) finding out strengths and

weakness of individuals.
(4) ability to work in a group.
Which one of the following options
is related to the heuristic method of

solving problems in geography ?

(1) Anintelligent hunch

(2) Trial and error

(3) Experiments

(4) Cartographic field work

@38)

74.

75,

76.
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78.

79.

80.

el
~ J
Which one of the following is not an
aim of Social Science ?
(1) to impart knowledge to become

effective citizen

(2) todevelop social efficacy
(3) toteach etiquette

(4) to develop motivation for

participating in public affairs.

The following are the principles of
curriculum construction except

(1) Child-centred

(2) Conservative

(3) Flexible

(4) Humanitarian

The basic objective of educational

excursion in Social Science is

(1) first hand experiences to the
students

(2) promote socialisation

(3) promote team spirit

. (4) chanellising energy of children

Which is not a type of map skill ?
(1) Knowledge of scale

(2) Knowledge of conventional

sign
(3) Knowledge of effects of
rotatory motion of the earth

(4) Knowledge of direction

39

77.

78.

9.

80.
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While illustrating the formation of a
coalition government, a teacher asks
her students about their options had
they been sharing power with their
friends and their partners threatening

~ to withdraw support if their demands

82.

83.

are not met. The teacher is
encouraging students to use which of
the following skills defined in the
Bloom’s taxonomy ?

(1) Application
(2) Analytical
(3) Synthesis
(4) Knowledge

In order to enhance the self-esteem of
students, they should be allowed to
(1)

take part in discussions and
debates.

listen to success stories such as
of Stephan Hawkins, a disabled
but great physicist and try to
emulate their example.

(2)

(3) interact as much as possible
with peers who achieve at
similar levels as their own.

(4) have opportunities to enhance
their competence in the
domains they are naturally

disposed to.

Which is not a technique/skill of
Social Science ?

(1) Probing questions
(2) Story telling

"(3) Reinforcement
(4) Illustration

(40)
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(41) . |
84. Which city of India is comparable as 84, WA % BT ¥ VBT H GO HicTRITaT
Silicon Valley in California ? , F FaferesT 3o I B A L 2
(1) Mumbai 1) T
(2) Chennai
(2) W=
(3) Hyderabad A
(3) EER
(4) Bangalore v
4) E
85. The _total population divided into 85. fafir oy q:plg‘r T fowiisra o sHEE
various age groups is indicated =T I T

through
(1) SHEEA Ree & Hfed

(1) Pattern of population change.

(2) Population composition. (2) SFEEN g
(3) Popu.lation pyramid. (3) wHEE s
(4) Division of human resources. @) " 5 R
86. Match the correct sequence of the 86. Frafafaa =1 e % § e BT -

following :

(a) HTETH () HARE
(a) . Malayalam (i) Karnataka

(b) TR (i) TR
(c) TERTA (iii) HERE

(d) FIE | (iv) ¥

(b) Marathi (i) Gujarat
(¢) Gujarati (ii1) Maharashtra

(d) Kannada (iv) Kerala
(@ ®» @© @@
@ B © (@

M G G G )
@ v G G 6
@ G) G @) @0 0 m @ @™ O

1 @ @ (3G @v)
(2 G(v) i) ) @)

@) Gi) ) Gv) Q) @) @Gi) () 3Gv) @
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Identify the State which has longest
coastline from the following :

(1) Gujarat

(2) Andhrg Pradesh
(3) Maharashtra

(4) Tamil Nadu

Which State has longest international
boundary with Pakistan ?

(1) Gujarat
(2) Punjab
(3) Rajasthan

(4) Jammu and Kashmir

When sun, moon and earth are in the
same line, which one of the takes
place ?

(1) Spring ebb
(2) Neap ebb
(3) Spring tide
(4) Neaptide

Which of the

depositional feature of sea waves ?

following is a

(1) Seacave
(2) Sea cliff
(3) Seabeach

(4) Sea arches

42)

87.

88.

89.
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Candidates should answer questions
from the following Part only .if they
have opted for ENGLISH as

LANGUAGE -1

Rierelt F=fafEa 9 & 99 & 3
Faed O § Al IEH WNET - 1
foeheq STt TAT & |



http://upscfever.com

Frevers

(a4

PART - IV
LANGUAGE -1

ENGLISH

Directions : Read the given passage and
answer the questions that follow (Q. No.
91 to 99) by selecting the most appropriate
option. _

Although wind power plants have
relatively little impact on the environment
~compared to fossil fuel power plants,
concerns have been raised over the noise
produced by the rotor blades, visual
impacts, and deaths of birds and bats that
fly into the rotors (avian/bat mortality).
These and other concerns are associated
with wind energy development. Like all
mechanical systems, wind turbines produce
some noise when they operate. Most of the
turbine noise is masked by the sound of the
wind itself, and the turbines run only when
the wind blows. In recent years, engineers
have made design changes to reduce the
- noise from wind turbines. Early model
turbines are generally noisier than most
new and larger models. As wind turbines
have become more efficient, more of the
wind is converted into rotational torque
and less into acoustic noise. Additionally,
proper siting and insulating materials can
be used to minimize noise impacts.

Unlike most other generation technologies,
wind turbines do not use combustion to
generate‘ electricity, and hence don’t
produce air emissions. The only potentially
toxic or hazardous materials are relatively
small amounts of lubricating oils and
hydraulic and insulating fluids. Therefore,
contamination of surface or ground water
or soils is highly unlikely. And like all
electrical generating facilities, wind
generators produce electric and magnetic
fields with potential for interference with
radar and telecommunication facilities.

91.

92.

93.

9.

9s.

A ‘rotor’ is used in

(1
€3]
3)
C))

any mechanical equipment
ohly turbine machines
manufacturing rotary blades

hydraulic pumps

An expression from the essay
meaning ‘prototype’ is

6]
)

(3)

4

ground water
early model
mortality

efficient

‘Acoustic’ refers to the

(D

-(2)

3)
4

capability of absorbing sound
reducing of noise
causing low noise levels

amplification of sounds

A word which means the opposite in .
the essay for ‘potentially harmful’ is

(1)
()
©))
4

technologies
interference
hazardous
hydraulic

The essay claims that the deaths of
birds are caused by

(1)
2
3
4

being hit by turbine blades

contamination in the soil

lubricating oil mixed in water

attacks by big bats
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A potential for
observed when

f
f

interference is

(1) that birds and bats have
become victims of machines.

(2) chemicals have seeped into the
soil and water.

(3) functioning of electrical

- gadgets are affected near wind

turbines.

(4) the blades, when in motion,

may obstruct the flight path of
aircraft.

Today, the long term option for
energy generation is by

(1) wusing limited amounts of
lubricating oils.

(2) avoiding the use of any fossil
fuel.

(3) using combustion.

(4) using a renewable energy
source.

‘Relatively little impact’ implies that
there were

(1) only minor problems with
fossil fuel use.

(2) some issues with wind power
turbines.

(3) almost no negative impacts
compared to other types of
energy generation.

(4) both wind and fossil fuel pose
some dangers as energy
sources.

‘Mechanical systems’ are based on
the principles of

(1) chemistry and economics
(2) geography and history
(3) physics and mathematics
(4) natural sciences

4s)

Directions : Read the given poem and
answer the questions that follow (Q. No.
100 to 105) by selecting the most
appropriate option : :

I have wished a bird would fly away,
And not sing by my house all day;

Have clapped my hands at him from the
door
When it seemed as if I could bear no more.

The fault must partly have been in me.
The bird was not to blame for his key.

And of course there must be something
wrong
In wanting to silence any song.

Robert Frost

100. ‘When it seemed as if I could bear no
more’ suggests that the poet felt

(1) sympathy

(2) impatience

(3) apersonal sense of loss

(4) extreme joy

101. The fault, here, lies with the

(1) noisy bird.

(2) the caged bird that reminded
him about his own loss of
freedom.

(3) the bird whose chirping was
not melodious.

(4) the cheerful chirping contrasted

' with his morose mood.
102. Here ‘key’ denotes

(D
(2) the pitch of the song
(3) freedom for the poet
(4) solution to a problem

the means to open the cage

P
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103. ‘There must be something wrong’
' wondered the poet because

(1) the bird song was very harsh to
his ears.

(2) he couldn’t find the key to its
cage.

(3) he wanted to escape the harsh
realities of life.

(4) he couldn’t appreciate even the
best in nature because of his
self absorbed state of mind.

104. By ‘wanting to silence any song’ he
is surprised that any human being

(1) can hate a bird song.

(2) can be helpless even in small
matters.

(3) can assume the right to
suppress another being.

(4) finds consolation away from
nature.

105. I ‘wished a bird would fly away’ here
suggests that the bird

(1) gained the poet’s pity because
it is a delicate creature

(2) was caged and struggling to
escape

(3) whose singing irritated him

(4) was not his favourite animal

Directions Answer the following
questions by selecting the most appropriate
option :

106. ‘Skimming’ while reading is to

(1) look for specific information

(2) read for pleasure

(3) look for instruction to operate a
gadget

(4) seek information

(46)

107.

108.

109.

110.

Read the transformation of a simple
sentence into a simple sentence
without changing its meaning :

The Sun Temple is the most
popular monument in the world.
[2 marks]

Answer 1 : No other monument is
as popular as the Sun Temple.

Answer 2 : The sun temple is
more popular than any other

temple.

How would you award marks ?
(1) 1 mark for answer 1 and -2- for

answer 2

(2) -0- for answer 1 and -0- for
answer 2

(3) 1 mark for answer | and -1- for
answer 2

(4) 2 marks for answer 1 and -0-
for answer 2

Which is a function word ?
(1) her

(2) notwithstanding

(3) human

(4) philosophy

“Translating” is an activity given

when students require to ’

(1) re-draft one text into another
format.

(2) re-write in their mother tongue.

(3) translate mother tongue to
English. .

(4) express their ideas in words.

According to the recommendations
of NCF 2005, (3.1.3), ‘range of
English-teaching situations prevail
here owing to the twin factors of
students’ exposure to English outside
the school and ’
(1) in their homes.
(2) the high cost
medium education.
(3) teachers’ proficiency in the
language.
(4) high prevalence of English
slang used in the media.

of English
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116.
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Which pair constitutes types of

‘cognitive style’ ?

(1) holistic/analytic

(2) regressive/aggressive

(3) product oriented/process
oriented

(4) formal/informal

In linguistics, ‘syntax’ means

(1) study of principles of sentence
construction.

(2) analyzing the meaning of
sentences.

(3) the rules of how sentences are
transformed.

(4) study of wuse of idioms

accurately.

When reading, to ‘encode’ means to

(1) gather relevant information.

(2) convert graphic medium to
visual medium or vice versa.

(3) hide additional meaning in
communication.

(4) express meaning in different
formats.

Which pair of words have the same
sound ending ?

(1) rice and rise

(2) here and where

(3) copy and apostrophe
(4) bear and beer

While writing, storing skills
(1) * summarising

(2) mapping
(3) reducing a passage length
(4) expanding an idea

If the piece of writing is brief,
complete, in the third person, without
digressions and emotional overtones
and logically arranged, it is a ‘

(1) classified advertisement
(2) memorandum

(3) report

(4) newspaper article

7

117.

118.

119.

120.

In the following statement :

‘We intend to go on a field trip with
our teachers. This is our plan’.

Which is a reference word ?

(1) intend
(2) this
3) we
(4) plan

Assess the two samples your students
have used while writing.

1. How ice-cream is made [title of
a recipe]

2. Are you stress free ? (title in

Life skills book)

(1
2

Samples 1 and 2 are correct.
A question mark is missing in
sample 1.

(3) Sample 1 is incorrectly
constructed, while sample 2 is
correct.

(4) Sample 2 is incorrectly
constructed, while sample 1 is
correct.

‘You ask, what your country has
done for you. I can answer with a

question : What have you done for
your country ?° Such a speech is

(1) aprompt

(2) explanatory

(3) rhetorical

(4) stylised

A fellow traveller at the airport has
just finished reading the newspaper
and you want him/her to pass it to
you. Choose how you will make the

request.

(1) Pass me the paper

(2) Pas me the paper, please

(3) Can you pass me the paper ?
(4) Cauld you possibly pass me the

newspaper ?
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PART -V

LANGUAGE - 11

ENGLISH

Directions : Read the given passage and
answer the questions that follow (Q. No.
121 to 129) by selecting the most
appropriate option :
It is easy to make a delicious-looking
hamburger at home. But would this
hamburger still look delicious after it
sat on your kitchen table under very
bright lights for six or seven hours ? If
someone took a picture or made a video

of this hamburger after the seventh

hour, would anyone want to eat it ?
These are the questions that fast food
companies worry about when they
produce commercials. Video and photo
shoots often last many hours. Because of
this, the menu items in fast food
commercials are probably not actually
edible.

As an example the first step towards
building the perfect commercial
hamburger is the bun. The food stylist —
a person employed by the company to
make sure the products look perfect -
sorts through hundreds of buns until he
or she finds one with no wrinkles. Next,
the stylist carefully rearranges the
sesame seeds on the bun using glue and
tweezers for maximum visual appeal.
The bun is then sprayed with a
waterproofing solution so that it will not
get soggy from contact with other
ingredients, the lights, or the humidity in
the room. Next, the food stylist shapes a
meat patty into a perfect circle and
paints the outside with a mixture of oil,
molasses, and brown food coloring. Grill
marks are either painted on or seared
into the meat using hot metal skewers.
Finally, the food stylist searches
through dozens of tomatoes and heads
of lettuce to find the best-looking
produce. One leaf of the crispest lettuce
and one center slice of the reddest
tomato are selected and then sprayed
with glycerin to keep them looking
fresh. So the next time you see a
delectable hamburger in a fast food
commercial, remember: you're actually
looking at glue, paint, raw meat, and
glycerin !

121.

122.

123,

124.

125.

According to the passage, a food

stylist working on a hamburger .

commercial might use glue to

(1) make sure the meat patty stays
attached to the bun

(2) keep the sesame seeds on the
bun in perfect order

(3) arrange the lettuce on the
tomato

(4) hold the entire hamburger
together

Based on information in the passage,
it is most important for the lettuce
and tomato used in a fast food
hamburger commercial to

(1) look fresh

(2) have a great taste

(3) Dbe the perfect shape and size
(4) appear natural

As used in the final paragraph, which
is the best synonym for ‘delectable’ ?
(1) disgusting

(2) familiar

(3) fake

(4) delicious

‘She finds one with no wrinkles’
implies that she was looking for

something
(1) unnatural
(2) perfect

(3) suitable
(4) Dbeautiful

Here, the hamburger ‘will not get

soggy’ when it is left

(1) under a bright light

(2) away from the heat and light

(3) near a cooling source

(4) when covered with chemical
compound
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126. The state of being the ‘crispest’

means very
(1) suitable
(2) perfect
(3) tasty
4) fresh

127. ‘Seared into’ the meat means the
design is
(1) hand drawn
(2) cut with a special instrument
(3) burnt into
(4) decorated artistically

128. The author’s primary purpose is to

(1) convince readers not to eat at
fas« food restaurants. ‘

(2) explain how fast food
companies make their food
look delicious in commercials.

(3) teach readers how to make
delicious-looking  food  at

~ home.

(4) criticize fast food companies
for lying about their products
in commercials.

129. As used in paragraph 2, something is
‘edible’ if it
(1) can safely be eaten
(2) looks very delicious
(3) seems much smaller in real life
(4) tastes good

Directions : Read the given passage and
answer the questions that follow (Q. No.
130 to 135) by selecting the most
appropriate option :

Claude Monet, a 19"-century French
painter, was the most famous artist
associated with the movement known as
Impressionism. Monet was born on
November 14, 1840, and even as a young
man he was known for producing small

portraits in charcoal. In 1859, at the age of
19, Monet moved to Paris to become a
professional artist. Most artists of his time
tried to imitate nature realistically, but in
his landscape painting Monet instead
sought to portray nature as it appeared to
him. In particular, he was interested in how
light affects the ways that we perceive
color. In one of his most famous series of
works, Monet painted the cathedral in
Rouen, France at several different times of
day, showing how changes in natural light
make the cathedral appear to change color.
In 1883, Monet moved to a small French
town called Giverny, where he built an
elaborate garden. This garden, in particular
its water lily ponds, became the chief

‘subject of Monet’s later paintings. These

paintings relied on broad, thick
brushstrokes. The texture of these
brushstrokes gave the canvases a tactile
quality that contrasted sharply with the
smooth canvases produced by more
traditional artists. Though he struggled
financially throughout his life, when Monet
died in 1926, he was one of the most
famous and influential painters in the
world.

130. Based on information in the passage,
it can be inferred that the phrase “a
tactile quality” suggests that Monet’s

_canvases were

(1) colorful
(2) beautiful
(3) smooth
(4) rough

131. According to the passage, Monet
moved to Paris in 1859 to
(1) join the Impressionism movement.
(2) paint cathedrals.
(3) become a professional artist.
(4) build an elaborate garden.
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132. The tone of the passage can best be
described as

(1) factual
(2) passionate
(3) clever
(4) adoring
133. A word in the essay which means
‘characteristic structure’ is
(1) different
(2) color
(3) texture
(4) thick
134. A ‘landscape painting’ is a portrayal of
(1) scenes found in the natural
world.
(2) pure form on damp, fresh, lime
plaster.
(3) scenes with narrative content.
(4) delineated areas of color with
particular sharpness and clarity.
135. This passage would most likely be
found in
(1) anewspaper
(2) anencyclopedia
(3) amagazine
(4) ablog
Directions : Select the most appropriate

option (Q. No. 136 to 150) :

136. The activity that offers the most
‘experience’ while learning is
(1) 2D story board
(2) audio of Shakespeare’s sonnets
(3) dialogue recording
(4) production of a short
documentary '

137. Web-casting as an educational media
does not include

(1) campus radio

(2) intranet

(3) staging a drama

(4) televised programmes

(56)

138. Language acquisition
(1) requires the memorization and
use of necessary vocabulary..

(2) involves a systematic approach
to the analysis and
comprehension of grammar as
well as to the memorization of
vocabulary.

(3) refers to the process of learning
a native or a second language
because of the innate capacity
of the human brain.

(4) is a technique intended to
simulate the efivironment in
which children learn their
native language.

139. According to NCF 2005, one of the
goals for a  second-language
curriculum is the attainment of

, such as is acquired in natural
language learning
(1) an average competency
(2) areasonably high proficiency
(3) abasic proficiency

(4) acceptable competence

140. There are four different kinds of

reading

(1) pleasure, information, details,
skimming.

(2) searching, discovering,
scanning, extensive.

(3) skimming, scanning, extensive
and intensive.

(4) skimming, scanning,
discovering, searching.
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‘Choose something that uses a few
different materials for an end
result. With the Kkids listening,
begin to read the instructions to
the kids while you have them, write
down your instructions. The real
test will be when the kids begin the
craft’ The output of the students in
the English class will enable the
assessment of their ability to

f
f

(1) understand the language.

(2) draw as instructed.

(3) follow instructions  while
listening.

(4) concentrate on the teacher’s

manner of speaking.

Criteria of assessment is a/an

(1) evaluation guideline.

(2) question-wise distribution of
marks.

(3) general impression of student’s
ability.

(4) scoring key.

By the end of next year, I will have

been 50 years old.

This  sentence introduces the

following tense form :

(1) imperfect (2) perfect

(3) simple (4) continuous

‘Have students choose three numbers

(from 1 to 10). Each number
corresponds to an item on the list
below. The first number is the
character their stories are to focus
on, the second number is the
setting for their stories, and so
forth.” This can be used as an
assignment for reading

(1) reading and speaking

(2) listening and reading

(3) speaking and writing

(4) reading and writing

A schemata refers to the

(1) weekly lesson plans

(2) rules of grammar use

(3) knowledge that is organized

and stored in the reader’s mind.
class time table

4

(37)

146.

147.

148.

149.

150.

In the following responses from
students, choose what is incorrect.

- (1) backbiting
(2) pickpocketing
(3) babysitting
(4) chain smoking
The providing learners with a reason
to complete an  assignment
satisfactorily is called
(1) assessment (2) evaluation
(3) motivation (4) grading

What is taught is not what is learnt

because

(1) a teacher or learner can never
fully master any discipline.

(2) students pay attention during
informal discussion.

(3) a teacher’s socio-economic

level may differ widely from

the students’.

students  possess  different

abilities, personalities and

come from a variety of
backgrounds.

4

In the Enquiry Based Language class,
(1) language learning aptitude
refers to the prediction of how
well, relative to  other
individuals, an individual can
learn a foreign language in a
given amount of time and
under given conditions.

focuses on the use of authentic
language, and students doing
meaningful tasks using the
target language.

learning is driven by challenging,
open-ended problems. Students
work in small collaborative
groups and teachers take on the
role as facilitators of learning.
uses of classroom projects,
intended- to bring about deep
learning, where students use
technology to engage with
issues and questions that are
relevant to their lives.

The word ‘alpha’ is phonetically
transcribed as
(1) [=lfd/
(3) /alfd/

(2)

3)

C))

(2) /=ifa/
(4) /alfa/

P
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Candidates should answer questions
from the following Part only if they
have opted for HINDI as

LANGUAGE -11.

QU] FEfArEd 9rT & U9l & ST
Fae Tl § I SEH WET - I
fosrea fe=st g &t |
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\\

STTST AT Y 71 &7 |

e § et A eymaTTEAl % @6 %
feT o gewTen @t | T @ 39 WE
fomerer & it 3= Wt wefvr | T S S W
T 8 R U @ 39 gAY B HA B SR
P30 & | I qEar 4 fF T g
3R Al B o faatas & g
AR Fam arem 76 famr g ) few S
s faenfaei & Twer mewt w9 €A =T |
3% 99 o g9 faera, 5% Sga $5 98 I
3R ¢ 7€ 99 9@ A § | 99 91 H 3Y
¥ 9 H W®d g IHH GEell AR AN H
TE-TeT31 ! TEIHAT EEm 47 | '

121. TieiSh F7 w9 fEd T | w1 F fog
et et & 2
(1) SHHALIE |
(2) StAEEERE |
(3) HIRWIWEIL |
(4) FHIEITEFRIE S |

$44

(59)

HAT-V
HET-1I

fe=h

122. Torerss =t ero forenferal & @wer smaef
Y BT =T FAH
(1) WFy=eE ¢ |
) Tt foees & ZwER W
T FRA € |
forerss Smeetansl g § |
forersr &t v & F faamr @
T

3)
C)

123, ST TR % YR WX el ST haT &

frmist A fRmam a9
(1) e foem

(2) SEaTaE R

(3) e (qen) foem

(4) oREl w miRe foen

124, T A 9 T AH I T & 2
(1) =
(2) ¥reE
(3) e
(4) I

T T I
(1y w\ =t
(2)
3) W
(4) wHE

125.
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- =

l1)26. fom 1 forelie &
(1) @@
(2) w7
(3) 3w
4 =
127. 5 3 sifafaa ferere forenféat =t wedt

g fram & ued s g T8 o
g | T fow wAETEe ¥ faga @
Bl @i & 2

(1) o i
(2) T

(3)
4

~

[
g

128. =erel)-RETET e & o

() =0 & 0F ©F § T _E ®/

AT |
w1 § Ta-fet e |

Tert §T qeEl W FEM! MG F
oIy | 9SS |

()
(3)

(4) SIETE-TRET R B e |

129, it % stk wesi = af ¥ el A
(1) w=di & Tt | e & e |
(2) TS % T A 09 R 9
(3) 8T 3 & e ot v & |

) mwr{?ﬁﬁé;aﬁﬁﬁ%iﬁaw
‘ & fa o |

(60)

frdwr . R e u R @t e e oo
T : |

AT et forerest w1 gerd S ot favenra
1 o g Fr g e € 1 SR, s
FqE & ot 1 98 A SuEEE U Al
7 37 Argarel @ AR faam @ = Aot
9 & o 71 el € | T% ST G Al 9
HUbd & et € | 7Y a F N w g @
T TS ap € 1 WY feremelt ugt SmeT 9 At
T AR | Y g oA 3w € ) F
AT o wa ¥ 1 o off T € 1 e frert
F TEI A T O 9T WL B ¢ A die
dte TRt ool A §U B I STUA! oirEl |
T ¥ T W g o9 T S e % urg
T U9 F T A GF AR WA S
T | 3 T A A guam fen fege 98
W T G} e €  So YW T § 6
st 7 | o Tenfaat @ 99 sfea e &
T 3w S g TeeE # od §, 399
iy Teag WE H TG B | ST W
Tt | g 9 7g IR T € o § wew w
femg @1 & ST SEvE W W E - Feaw
et QAT war € Y ugren fawper Rl |
B-E § I 3T AR 1 W@ E | 37,
T wom | W e A | 3 @e v 3

Ig |9 g g0 off g8 i 9o 1@l
wifey for B 1 fase & | g & 9 T &
31T T L T TR |

130, fermeft
(1) SEFTTEY |
(2) TEFHH THA A G |
(3) <Ed FEFHA Y |
(@) WTMREIERS
131, Si@sF 7 ey e R wm & 0
(1) eI 3R s
(2) ugN-feE
(3) i A @
(4) T 3R ugR
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132.

133,

134.

135.

hed
/el
a3 faenferai =t
ST et S T & off |
3t s & o |
FYH HIH ST G |
e USRI FE H @ &
o |

f
f

€y
(2)
3)
“

TS % SMYR W HeT 5T qebell & TF

were-fraEr & o s e
Hay g4 91T |

SFYIEA &1 FER Yo 8T e |
ferenférat =t Taeen & 3 =nfew |
foenfort @ <e-sue = T |

ey

@
3)
@)

o wieT ST SR e 1§ 2
(1) foemr |

2) v

(3) R

@ fovar

FEF Tl T T BT 2

370t foreres wTelt

forerer wferdl % vgM & o
feremeft

I i SR

1)
(2
©)
4)

(61)

136.

137.

138.

139.

140.

few . @ fowew gfw

g WIhaT ST S T

(1) ferd wepfa ¥ |

(2) WE |

(3) iecrast ® FgEl € |

@) forerer % forg wrRl-9R SE ¥ |

@ I T faal arelt et @&t

STEAI-UAE ¥ | T SMHR U el S

el & ToF 39

(1) e &l S |

(2) 9 T H UETH TN TRATR |

(3) Ui feull % O @ 9% HgR
! P FAT T |

4) FaATTIOREE |

FeEH! HI § Wit mewagu g

(1) e

(2) THaAICTT

(3) TE-HER

(4) « TR

TeT & W H B W HYA T T X 2

(1) 9T Sheed 9T St Fen A & Hiar

Sik:c ik

;m-mﬁﬂﬁﬁmqﬁsm g
|

ayr ofEw 9w Afee w o

WEF AT R | :

qo di@en 3R AfSa wEr

A A R Y |

(2)
3)

4)

o7 e 1 RYF §

(1) TEAR H THSHR T |

(2) TETHEE B AT TFE

(3) W F e st B et
W AT |

@) = @t sfeT: e S
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f
f

I ¢
141.

142.

143.

144.

145.

hod

Vers

ST ST B IS HaS T I

T € TENT HE ¥ | I % AT g
¥ T | T I

(1) |R Vel Sel ST
(2)  SITSI-SENT St 3T T
(3) TR
(4) w-faER w7

Iea-g | fgT e fam

(1) WA-&T% &I AT 97t € |
(2) SFEYES SR U € |

(3) Theql B WRIHOT FQ ¢ |
(4) TuuF FaEr € |

AR

(1) Teorsfem e &1 =
e

g & fafat &
e 9N % 9% & foFan e ey |
et # gRedt ggt & o e

S |

(2)
3)
“)

7 fereror Bt WowoTa fafy

(1) ofss dEAet & o W
A

TT-5ENT O T 34T ¢ |
T fTeIor OT e S ¥ |

fafas it st @ ot ot
T

)
3)
“

T9T =t BT H Tl B

(1) fooge @y gtz 31 9w |

(2) e UIeE-GETh GgH! ey |

(3) it srfreafs & fore ofte s
T |

(4) e ST Wifeed TG =T |

(62)

146.

147.

148.

149.

150.

T AT S Je S

(1) fereit oft sqmer-srvr = fergor =& & |
) %wwwm TR 8
g |

férer T W FESIR R € |

I awre ¥ W T9H ¥9
frgor &t €

ar-fereror § fafir wifefeae faamt

(1) Sl B & e @ wEEw
B E |

TR % A @ aiad A &
R I HIEME |

Faer W Wigd B gHEen % o
YERT Bl & |

Fae fauret & wew ¥ ofifeq
A § |

3)
)

2
3)
4)
fe=t

)
2

T & |

eI R |

(3) WEIEHNIY |

(4) wifear = THAET W |

;mwﬁmﬁ%ﬁuaﬁﬁmm
0

(1) iR ST (FREFK)

(2) ST UEA-TEH

(3) uhE

(4) e Bt i, et g

e T & IFER g At &, e
WA GE A we €| T e
HROT ¥

(1) =9 IS 9 FT GHE &
B |

JE 9TST FIRT FE S |
TR T R T
FH I G AT DT ATRNY |

)
3
4)


http://upscfever.com

\\

e

(63)

SPACE FOR ROUGH WORK
TG &HE &F T se
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READ CAREFULLY THE FOLLOWING
INSTRUCTIONS :

L.

10.

11.

12,

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on Side-2
of the OMR Answer Sheet. The answer once marked
is not liable to be changed.

The candidates should ensure that the Answer Sheet

is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere

else except in the specified space in the Answer Sheet. |

Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy
in Test Booklet Code or Number and Answer Sheet
Code or Number), another set will be provided.

The candidates will write the correct Test Booklet

Code and Number as given in the Test Booklet /|

Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination hall/
room.

Each candidate must show on demand his / her
Admission Card to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his / her
seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet
twice. Cases where a candidate has not signed the
Attendance Sheet a second time will be deemed not
to have handed over the Answer Sheet and dealt
with as an unfair means case. The candidates are
also required to put their left hand THUMB
impression in the space provided in the Attendance
Sheet.

Use of Electronic / Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the Board with regard to their conduct
in the Examination Hall. All cases of unfair means will
be dealt with as per Rules and Regulations of the
Board.

No part of the Test Booklet and Answer Sheet shall
be detached under any circimstances.

On completion of the test, the candidate must hand
over the Answer Sheet to the Invigilator in the

Room / Hall. The candidates are allowed to take
away this Test Booklet with them.

10.

11

12

PSS ——

e we % fore few o A faemedt | @ wé s F fow
OMR T 93 % J&-2 T Hael T g 1 & T e
A/ dfet U 9 @ o | U 9 IR i A
F 1E I & TE ST FHAT € |

reTelt e Y i T SO T 1 AT Y TE 39
R B 3T B T A | uhee ST AT
o A | Fuifia wm & afafem = v o

T TRt T ST UF T AEE AT Y, i
frt off aftfegfa o (@Faer wien s td ST %
Hand I G | fy=ran 1 feafa =6t Stge) gast wien
TR IuCTR T R S | |

TReT gieet / ST O | e e udte gfeesr S 9
e @ el W adtes @ erfedtus o ford o
Ttemdt g7 TeT e ° yav H1E % faarg fedt
YR Y UISd I, Wi a1 gRafead, Hs i utedi,
Ui, AISTEA G, SIRITeh ST 41 Rt 310 W
T I O S 7 ST FA B S A E |

@ I W TRE qeed, s ® o1e wavee
femnt |

aTefterer a1 Ferdverer it fariy avAfa & famm g odemelt
AN EWHIBE |

FriRE e 9t a9 3¢ o v famn v wfedoow
T aT EeR fe femm adterredt e et e o1
7% Tt adtemmell F TERY AR AT T wm TE
fopm &t 7 g s fE 3R I O FE e R
Tg ST QYA ST AHE T ST | aderd s
ant g1g % e Wt e wiv-aw | fao o v
¥ Evg A |

TR / BRI GRS o Suam afea ¥ |
TYA-ET | STeReT o ferw qdtenelt &Y€ & wdt et wE
fafi g frafhe & 1 s It & adt ot =
hae S & framt vd fafet & srEReEm |

foret o ot gfTanT 3R SR U 1 i W S
T |

THhen W R W, T ww /€ ot | g
IO R w-Frles wt orava wiw § 1 wetamed
g Ty g9 qieT YRt &t & o wwa &
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